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Question Id : 9380667732 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the cumulative number of sale of Red Electric Vehicles (EVs) out of
the total number of Red and White EVs sold and the cumulative percentage of the total number of
EVs sold in five different months from May to September. Based on the data in the table, answer
the questions that follow.

Month-wise Sale Distribution of EVs

Months Cumulative Cumulative
number of percentage of
sale of Red sale of EVs

EVs (Red and
White in
colour)
May 360 25 %
Till June 456 41 %
Till July 8§16 61 %
Till August 1032 79 %
Till September 1232 100 %

Note: Total number of EVs (Red and White) sold in all the 5 months is 2400.

Sub questions

Question Number : 1 Question Id : 9380667733 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the number of Red EVs sold in August?

1. 180
2.200
3.160
4.216
Options :
93806630101. 1
93806630102. 2
93806630103. 3
93806630104. 4

Question Number : 2 Question Id : 9380667734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What 1s the difference between the number of White EVs sold in June and the number of Red
EVs sold in August?

1. 120
2.90
3.104
4.72



Options :

93806630105. 1
93806630106. 2
93806630107. 3
93806630108. 4

Question Number : 3 Question Id : 9380667735 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the average number of White EVs sold in May, June and July together?

1.270

2.224

3.216

4. 308
Options :
93806630109. 1
93806630110. 2
93806630111. 3
93806630112. 4

Question Number : 4 Question Id : 9380667736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of White EVs sold in May is % more than the number of Red EVs sold in
September.

1. 10

2.3

3.20

4.15
Options :
93806630113. 1
93806630114. 2
93806630115. 3
93806630116. 4

Question Number : 5 Question Id : 9380667737 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of EVs sold in May and the average number of red and white EVs
sold in August?

;WL
2.9:4
3.17:12
4.25:9

Options :
93806630117. 1
93806630118. 2



93806630119. 3
93806630120. 4



Question Id : 9380667732 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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Sub questions

Question Number : 1 Question Id : 9380667733 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
3R H & U &1 § di ol e &l g2

1. 180

2. 200

3. 160

4. 216
Options :
93806630101. 1
93806630102. 2
93806630103. 3
93806630104. 4

Question Number : 2 Question Id : 9380667734 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o 1 dd 71U Yihg 5 dl i TREAT 3R R H o U Tled § dl B ST o did DI 3id 1 g2

1. 120
2.90
3.104
4.72
Options :




93806630105. 1
93806630106. 2
93806630107. 3
93806630108. 4

Question Number : 3 Question Id : 9380667735 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T3, S 3R Slls I [ddR $d od U Gihg $ df b 3715d Y1 A1 g2

1. 270

2.224

3.216

4. 308
Options :
93806630109. 1
93806630110. 2
93806630111. 3
93806630112. 4

Question Number : 4 Question Id : 9380667736 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RHId UGG s I P G YR AT MU AR S A DI T 9% HUdH g

1. 10

2:3

3.20

4. 15
Options :
93806630113. 1
93806630114. 2
93806630115. 3
93806630116. 4

Question Number : 5 Question Id : 9380667737 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : (

ﬁﬁ?wéﬁﬁﬁmﬁwﬂﬁwmﬁ%éﬂﬁ%ﬁwaﬂw
fhd g2

| T

2.9:4

3. 17513

4.25:9
Options :
93806630117. 1
93806630118. 2
93806630119. 3
93806630120. 4



Sub-Section Number : 2
Sub-Section Id : 938066312
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9380667738 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is one of the advantages of behavioural objectives that determine
Teaching and Learning in Higher Education?

1. These are teacher-centred.
2. These make learning focused and achievable.
3. These focus too narrowly on minutiae.
4. These limit opportunities from spontaneous unintended outcomes occurring during learning
experience.
Options :
93806630121. 1
93806630122. 2
93806630123. 3
93806630124. 4

Question Number : 6 Question Id : 9380667738 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93806630121. 1
93806630122. 2

93806630123. 3
93806630124. 4




Question Number : 7 Question Id : 9380667739 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the strategy that support motivation?

1. Connections across the curriculum.
2. Attributions to intellect rather than effort.
3. Work that is too much difficult.
4. Emphasis on finishing, not learning.
Options :
93806630125. 1
93806630126. 2
93806630127. 3
93806630128. 4

Question Number : 7 Question Id : 9380667739 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR &1 GHYH A arell It Fafifad # Y & g2

1. U Urea=di | $[s1d
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Options :
93806630125. 1
93806630126. 2
93806630127. 3
93806630128. 4




Question Number : 8 Question Id : 9380667740 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps of classroom action research

A. Plan

B. Reflect
C. Action

D. Observe
E. Follow up

Choose the correct answer from the options given below:

L BAEED
2C,B.E DA
3.A,C,D,B,E
4D, E.ACB

Options :

93806630129. 1
93806630130. 2
93806630131. 3
93806630132. 4

Question Number : 8 Question Id : 9380667740 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630129. 1
93806630130. 2
93806630131. 3
93806630132. 4



Question Number : 9 Question Id : 9380667741 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of adolescent learners?

A. Increased emotional sensitivity

B. High Level of self-discipline

C. Strong need for social belonging

D. Cognitive development for abstract thinking
E. Emotional validity

Choose the correct answer from the options given below:

1. Aand D Only
2. B and C Only
3.D, C and E Only
4. A, C,D and E Only
Options :
93806630133. 1
93806630134. 2
93806630135. 3
93806630136. 4

Question Number : 9 Question Id : 9380667741 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaiad # 9 oM R Rienfiat o1 anefedrd g2

A. P JFTHS Ydg=iiad

B. 3T~ 3R DT 3= &R

C. HAfSTh- Yrdgdl &f Udd 3H1dRgdhd]
D. 3{Hd = & foIu et fasbr
E. YdTId® a4dl

4 few T fasb et # 1 91 SR I

1. Hdd A AR D
2. HadB 3R C
3. $Had D, C 3R E
4. HAA A, C.D3IRE
Options :
93806630133. 1
93806630134. 2
93806630135. 3
93806630136. 4




Question Number : 10 Question Id : 9380667742 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Term) (Definition)
Objectives focussing on attitudes and
A.|Classroom Management L X =
feelings.
B. | Collaboration II. | Memory and reasoning objectives.
. : Techniques used to maintain a health
C.| Affective domain I1I. i i Y
learning environment.
- ) A philosophy about how to relate to
D.|Cognitive domain IV. & tl[; - PRy

Choose the correct answer from the options given below:

1. A-III, B-1V, C-1, D-II
2. A-1V, B-11I, C-I1, D-1
3. A-1, B-II, C-IIL, D-IV
4. A-I1, B-1, C-IV, D-III

Options :

93806630137. 1
93806630138. 2
93806630139. 3
93806630140. 4




Question Number : 10 Question Id : 9380667742 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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| . Ba%igﬁlﬁaﬁ?wmaﬁwaﬁa
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1. A-HTI1, B-1V, C-I, D-II
2. A-1V, B-11I, C-I1, D-1
3. A-L, B-11, C-IIL, D-IV
4. A-11, B-1, C-1IV, D-III

Options :

93806630137. 1
93806630138. 2
93806630139. 3
93806630140. 4

Question Number : 11 Question Id : 9380667743 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is pure research?

1. It is concerned with search for ways of using scientific knowledge to solve practical
problems.
2. It does not develop and test hypothesis and theories.
3. This research is not used to reject or support the existing theories about social phenomena.
4. It is also called basic research and is concerned with quest for knowledge and knowing more
about the phenomenon without concern for its practical use.
Options :
93806630141. 1
93806630142. 2
93806630143. 3
93806630144. 4



Question Number : 11 Question Id : 9380667743 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630141. 1
93806630142. 2
93806630143. 3
93806630144. 4

Question Number : 12 Question Id : 9380667744 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is case study method

1. It studies the phenomenon, event, situation or development in a very simplified and shallow
manner.
2. It is studying the phenomenon, event, situation or development through a thorough and
detailed analysis or intensive study.
3. This study depends on analysis of responses collected through data.
4. It is concerned with search for ways of using common sense to solve practical problems.
Options :
93806630145. 1
93806630146. 2
93806630147. 3
93806630148. 4



Question Number : 12 Question Id : 9380667744 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&Y ey [afY 1 gidl g2
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Options :
93806630145. 1
93806630146. 2

93806630147. 3
93806630148. 4

Question Number : 13 Question Id : 9380667745 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mean (M) and coefficient of variation (CV expressed as a percentage) of different datasets are
given in A-D below. Compute the standard dewviation of each dataset and arrange in ascending
order.

A.M=60,CV=70/3
B.M=80,CV=62>
C.M=70,CV=160/7
D. M =90, CV=40/9

Choose the correct answer from the options given below:

Options :

93806630149. 1
93806630150. 2
93806630151. 3
93806630152. 4



Question Number : 13 Question Id : 9380667745 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i Srer del & A1 (M) 3R fa=Ru uiie (cv ufd2rddn 8 o) Hid a- D H AU e g1
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A.M=60,CV=70/3
B.M=80,CV=6.25
C.M =70, CV=160/7
D. M =90, CV =40/9
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Options :

93806630149. 1
93806630150. 2
93806630151. 3
93806630152. 4

Question Number : 14 Question Id : 9380667746 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Research misconduct includes which of the following?

A. Data fabrication

B. Plagiarism

C. Data falsification

D. Differences of opinion
E. Data validation

Choose the correct answer from the options given below:

1. A, B, C and E Only
2. C,D and E Only
3.D and E Only
4. A, B and C Only
Options :
93806630153. 1
93806630154. 2
93806630155. 3
93806630156. 4



Question Number : 14 Question Id : 9380667746 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MY BHaR H g H U - g g2

A. ST STcETsil

B. Ulfefd® 9/

C. STeT fHAT®
D. HdYG
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1< fau v fadedt @ € Tl ST I

|.$dd A, B, C 3R E
2. Had C. D AR E
3. Had D 3ARE
4. had A, B3R C
Options :
93806630153. 1
93806630154. 2
93806630155. 3
93806630156. 4

Question Number : 15 Question Id : 9380667747 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI MR m
(n=number of Trials, p= Probability of Success) (Mican and Sta‘iﬂzt‘;ﬂ’ilﬂ.‘:ﬁ;‘““ ot Bl
A. |In=5p=04 I. |2.8 and 1.296
B. |n=6,p=06 II. |2.0 and 1.095
C. |n=8,p=0.5 III.{4.0 and 1.414
D.|n=7,p=04 IV.]3.6 and 1.200

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-I
2. AL, B-IV, C-1I1, D-II
3. A-IIL B-1I, C-1, D-IV
4. A-11, B-1V, C-111, D-I

Options :

93806630157. 1
93806630158. 2
93806630159. 3
93806630160. 4



Question Number : 15 Question Id : 9380667747 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

(n=uﬁ&mﬁa>°rmq§=}_;wmaﬁmhmn @ammﬁgwﬁaﬁm
A |In=5.p=04 I. 12.84d1.296
B. |n=6,p=0.6 II. [2.0d 1.095
C.|n=8,p=0.5 I.|140d 1.414
D. |[n=7,p=04 IV.][3.6 d 1.200
- fau T fad el # 9 Tt SR D1 99 HIfST -

1. A-II, B-III, C-1V, D-1
2. A-1, B-IV, C-III, D-II
3. A-IIL B-1I, C-1, D-IV
4. A-11, B-1IV, C-1I1, D-1

Options :

93806630157. 1
93806630158. 2
93806630159. 3

93806630160. 4

Question Number : 16 Question Id : 9380667748 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first film Raja Harish Chandra directed by Dada Saheb Phalke was made in which year in

India?

I 1913
2.1914
3. 1915
4. 1931

Options :

93806630161. 1
93806630162. 2
93806630163. 3
93806630164. 4




Question Number : 16 Question Id : 9380667748 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GIGl Ulgd Wied gRI ¢ 12d UyH fthed I IRl 95 R | (69 gy §115 15 Al

1. 1913
2.1914
31915
4.1931
Options :
93806630161. 1
93806630162. 2
93806630163. 3
93806630164. 4

Question Number : 17 Question Id : 9380667749 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first talkie film Alam Ara, directed by Ardeshar Irani was made in which year in India?

1. 1929
2. 1930
3..1931
4.1913
Options :
93806630165.
93806630166.
93806630167.
93806630168.

AW N =

Question Number : 17 Question Id : 9380667749 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a@ﬁ%&mmmﬁﬁamm(mﬁ}mwmmﬁ@maﬁﬁ
i

1. 1929
2.1930
3. sl
4.1913
Options :
93806630165.
93806630166.
93806630167.
93806630168.

AW N ==



Question Number : 18 Question Id : 9380667750 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Write the correct chronological order of the following films as per their release year. (From
earliest to the latest)

A. Psycho

B. Bicycle Thieves
C. City Lights

D. Citizen Kane

E. Rashomon

Choose the correct answer from the options given below:

1.A.B,C.D,E

2.B,C,A,D,E

3 BB . E A

4.B,D. A, C,E
Options :

93806630169. 1
93806630170. 2
93806630171. 3
93806630172. 4

Question Number : 18 Question Id : 9380667750 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630169. 1
93806630170. 2
93806630171. 3
93806630172. 4



Question Number : 19 Question Id : 9380667751 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are the barriers to communication?

A. Loud music

B. Ill health

C. A telephone that is in poor working order
D. Good health

E. Traffic noise

Choose the correct answer from the options given below:

1. A, B, C and D Only
2. A, B, Cand E Only
3.B and D Only
4. A, D and E Only
Options :
93806630173. 1
93806630174. 2
93806630175. 3
93806630176. 4

Question Number : 19 Question Id : 9380667751 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 U BIH-BH YUY & faRIYD g7
A. oo 9ifid

B. 91 W
C. BT B DI YT H W Selb =
D. 3TH W
E. gTdi™rd 2R

4 few T fasb et # 1 91 SR I

1. $dd A, B, C 3R D
2. HAd A, B, C 3R E
3. Hdd B AR D
4. Had A. D IR E
Options :
93806630173. 1
93806630174. 2
93806630175.3
93806630176. 4



Question Number : 20 Question Id : 9380667752 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Terms) (Examples)
A.|Communication Event I. |[Radioand TV
B.| Communication Media II. | Smartphone and Email
C.| Communication Technology III. [ Journalists and Advertisers
D.| Communication Professional IV. [ Conference and Meeting

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. AL B-1I, C-1, D-IV
3. A-Il, B-III, C-IV, D-1
4. A-1, B-IV, C-III, D-II

Options :

93806630177. 1

93806630178. 2

93806630179. 3

93806630180. 4

Question Number : 20 Question Id : 9380667752 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

a1 -1
[S) (S2TERTN
A. | SUNU HRIHH 1. [3fsq1 g defifasH
B. |ty Hifgar 1L | HICHhIH d sHd
C. | dusur Ureifiret 1L | U9HR g [d3199-gId]
D. | SUNUT soaardi IV. |9 d d6®
T ST 1T fdd el § U Ugl 3wk &1 94+ Difol -

1. A-IV, B-1, C-II, D-III
2. A-1IL, B-II, C-1, D-IV
3. AL B-III, C-IV, D-1
4. A-1. B-1V, C-III, D-1I

Options :

93806630177. 1

93806630178. 2

93806630179. 3

93806630180. 4



Question Number : 21 Question Id : 9380667753 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the series given below:
1,2,5,14,41, 125

23

Tad [od =
3 th —

4.41

Options :

93806630181. 1
93806630182. 2
93806630183. 3
93806630184. 4

Question Number : 21 Question Id : 9380667753 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{15 ael ¥ TeTd A1 &1 Ul Tl |
L2 50 T AL 125

25

fad [nd =
-2 h —

4. 41
Options :
93806630181. 1
93806630182. 2
93806630183. 3
93806630184. 4

Question Number : 22 Question Id : 9380667754 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in a certain code language 'PERFECT" is written as “73°, then how will ‘COMPACT" be written
in that language?

fad O =
] =]
A = \D

4. 77
Options :
93806630185. 1
93806630186. 2
93806630187. 3
93806630188. 4



Question Number : 22 Question Id : 9380667754 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gfe Hidug YN T 'PERFECT ®l *73° & U H foRd1 SIIdl g dl SUdd HINT § «COMPACT”
DI by el SE

l. 69

2.71

35

4. 77
Options :
93806630185. 1
93806630186. 2
93806630187. 3
93806630188. 4

Question Number : 23 Question Id : 9380667755 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-IT
(Question) {Answer)
A.|What percent of a day is 3 hours? L |9
B What is the average of first nine prime 1 iz
numbers?
c What is the average of first five multiples 1 125

of 37

Sum of the ages of A and B is 12 years
D.| more than the sum of the ages of Band |[IV.|[11.111
C. How many vears C is younger than A?

Choose the correct answer from the options given below:

1. A-I, B-1I, C-1II, D-IV
2. A-II, B-1, C-1I1, D-IV
3. A-IIL B-IV, C-1. D-II
4. A-III, B-IV, C-I1, D-1

Options :

93806630189. 1

93806630190. 2

93806630191. 3

93806630192. 4



Question Number : 23 Question Id : 9380667755 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

ESR .
(LK)

A& G Pl [paTulaRig 3 e gidig? [ L |9

B. | UYH Al Uy S &I Sad Hig? |1 |12

C.|3 & UYH U U &1 3iFd g2 IO [12.5

AR B I G HIAN B 3R C Bl
D.[3 S AN 1294 UG GIdAlADl [IV.[11.111
I H ¢ $I 3 fbe- a8 A g2

A faU U fdd el & T Ul 3R &1 98- Difelu -

1. A-I, B-II, C-IIL, D-IV
2. A-11, B-1, C-1I1, D-IV
3. A-IIL, B-1V, C-1, D-II
4. A-III, B-1V, C-11, D-1

Options :

93806630189. 1
93806630190. 2
93806630191. 3
93806630192. 4

Question Number : 24 Question Id : 9380667756 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The price of a jewel, passing through three hands, rises on the whole by 65%. If the first and
second sellers earned 20% and 25% profit respectively, then find the percentage of profit earned
by the third seller.

1. 10

2. 15

3.20

4. 30
Options :
93806630193. 1
93806630194. 2
93806630195. 3
93806630196. 4



Question Number : 24 Question Id : 9380667756 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e U SdRId oI fdchdisil & gIUl U eRdl g dl S SIHd UR 65% ¢ oildl g1 dfg yyn
;ij[ﬂ%—cﬂﬂﬁmaﬁm: 20% 3R 25% ATH BIdT g dl Jaiid fdehdl gRT S Y Wid2rd
JMd SIS

E: 10
210
3.20
4. 30

Options :

93806630193. 1
93806630194. 2
93806630195. 3
93806630196. 4

Question Number : 25 Question Id : 9380667757 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D are correct?

A5 % of (25 % of 1600) is 50.
B. 0.15 % of 33% % of 10,000 is 5.

C. If interest earned on £15,000 in 3 years at simple interest is £5400, then the rate of interest is
12%.

X y =z
D.Ifg=Z=§,thenx::.s:v=2:3:'?

Choose the correct answer from the options given below:

1. A, B and C Only
2.B and C Only
3.B, C and D Only
4. A and D Only

Options :

93806630197. 1
93806630198. 2
93806630199. 3
93806630200. 4



Question Number : 25 Question Id : 9380667757 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FfaRad A-D § 4 &1 $YT 431 52

A. (1600 BT 25%) BT 5%, 50 5
B. 10,000 33% % B10.15%, 5 5|

C. 215,000 UX 3 Y o [eTU TTERUT S4TS] U [ 25,400 3Hfoid &I STl g ol S5 63 12% g
D.qﬁ§=i=§,%?ﬁx:y::=2:3:?%|

4
4 fau v fadedt @ ¥ Tl S I

I.hadd A, B3R C
2. HIAB AR C
3. Hdd B, C 3R D
4. HAd AR D

Options :

93806630197. 1
93806630198. 2
93806630199. 3
93806630200. 4

Question Number : 26 Question Id : 9380667758 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are sub-contraries?

A. All sparrows are birds.

B. No sparrows are birds.

C. Some sparrows are birds.

D. Some sparrows are not birds.

Choose the correct answer from the options given below:

1. C and D Only
2. B and D Only
3. Aand B Only
4. B and C Only
Options :
93806630201. 1
93806630202. 2
93806630203. 3
93806630204. 4



Question Number : 26 Question Id : 9380667758 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad d 9 &4 9 Sy sHfqudld go

A g TR uel g g

B. @l Y Tivar uelt 7gt gich €
C. DS TRAT Y& g B
D. $ 11 Uelt g1 gl g

fid feu g fasbedl # 1 91 Sk I

1. ddd C 3ARD
2. $ad B 3R D
3. HId A 3R B
4. HAAB 3R C

Options :

93806630201. 1
93806630202. 2
93806630203. 3
93806630204. 4

Question Number : 27 Question Id : 9380667759 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the statement “Some animals are not birds™ is given as false, which of the following statements
can be inferred to be true?

A. All animals are birds.
B. No birds are animals.
C. No animals are birds.
D. Some animals are birds.

Choose the correct answer from the options given below:

l. A and B Only
2. B and D Only
3. Aand D Only
4. B and C Only
Options :
93806630205. 1
93806630206. 2
93806630207. 3
93806630208. 4



Question Number : 27 Question Id : 9380667759 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gfe Y “H& S-aR Ul gl gid g Dl 39 GH1 SIdl ¢ ol FafeRad 4 9 fdod du-l ol
Y GHT S Gl 82

A. Gt SR Uefi gid |
B. ®ls Y&l SIHax 181 gl 8 |
C. DS TR Yl Agl gidl o |
D. 9 SR Ui gid g1

1< fau v fadedt @ € Tl ST I

|.Hdd A 3R B
2. Hadd B AR D
3. Hdd A AR D
4. Had B AR C
Options :
93806630205. 1
93806630206. 2
93806630207. 3
93806630208. 4

Question Number : 28 Question Id : 9380667760 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“It is immoral to use textbooks with profane words in them because it is not right for our children
to be exposed to disrespectful and ugly words.” Which logical fallacy is committed in the above
argument?

l. Argument in circle
2. Hasty Generalization
3. Strawman
4. Fallacy of Division
Options :
93806630209. 1
93806630210. 2
93806630211. 3
93806630212. 4



Question Number : 28 Question Id : 9380667760 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iR sl Y Gdd UIGAYEddh] &l GG H1 3Hidd g Fifd R d=dl DI rgm=yuf
3R 7iC Tsal U 3T gIF1 Siad el 87 Il ekl H SIH-91 deb G [IedH B

1. Ib P Gfckd
2. AT GrETdih o

3. 1 &1 gdell

4.faugqly

Options :

93806630209. 1
93806630210. 2
93806630211. 3
93806630212. 4

Question Number : 29 Question Id : 9380667761 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing extension.

A. Cheese

B. Food products
C. Dairy products
D. Cottage cheese

Choose the correct answer from the options given below:

1.A.D,C,B
2.C.B. A, D
3.B, ,AﬁD
4. DA C.B
Options :
93806630213. 1
93806630214. 2
93806630215. 3

93806630216. 4



Question Number : 29 Question Id : 9380667761 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afeIRad &I ged/8RIAM diad & $H H aid HISU|

A. TR (@19
B. 9l Jdiq
C. ¢ Jdlq

D. R UAR
fid feu g fasbedl # 1 91 Sk I

1.LA.D,C.B

2.0 B.AD

3.B,CAD

4.D.A,C,B
Options :

93806630213. 1
93806630214. 2
93806630215. 3
93806630216. 4

Question Number : 30 Question Id : 9380667762 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“A university student 1s never seen to be writing or reading during the day time but she always
submits her assignments in time. Therefore one can conclude that she must be studying and
writing during the night time.” According to Mimarmsa School of Classical Indian Philosophy,
which instrument of knowledge (pramana) is used in the above argument?

l. Apumana

2. Arthapatti

3. Unupalabdhi

4. Alaukika Pratyaksa

Options :

93806630217. 1
93806630218. 2
93806630219. 3
93806630220. 4



Question Number : 30 Question Id : 9380667762 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“fayfaeTerd &1 U SE1 &I fa-1 & dHaft off ferad a1 ugd gu Ag! & SiIdl g Wi dg 9/d U
H1 Bl GHR UG WEId Bcll o | SUfaY I8 [+5hy a1l ol Gdbdl g fdb a8 d & ugd!
3R fergdl gt QIR YR a=i4 & Wi 0d & AR 3uddd gfdd 4 749 & g
HTE (JHT0T) DT UGNT i 711 82

. 3
2. 3pUfaf

3. 3uafel
4. 3[cllfbd Y&

Options :

93806630217. 1
93806630218. 2
93806630219. 3
93806630220. 4

Question Number : 31 Question Id : 9380667763 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HTTP stands for )

1. Hyper Text Transmission Protocol
2. Hyper Text Transfer Protocol
3. Hyper Text Testing Protocol
4. Hyper Text Transit Protocol
Options :
93806630221. 1
93806630222. 2
93806630223. 3
93806630224. 4

Question Number : 31 Question Id : 9380667763 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HTTP (Td.E1.E10) &1 gui Fu g.-

1. B3R - Uleldbld
2. BISIRCHRT CIUHR Uleidhid
3. GIRCHL cRENMUleidld
4. SIIWRCRLT TifSTe UicTdhId

Options :

93806630221. 1
93806630222. 2
93806630223. 3
93806630224. 4




Question Number : 32 Question Id : 9380667764 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The IEEE name of Wi-Fi is )

1. 8§02.3
2.802.11
3. 802.15
4.802.2
Options :
93806630225. 1
93806630226. 2
93806630227. 3
93806630228. 4

Question Number : 32 Question Id : 9380667764 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dals- WIS &1 s, 5. 5. 5. (IEEE) AW 4 g

1. 802.3
2.802.11
3. 802.15
4. 802.2
Options :
93806630225. 1
93806630226. 2
93806630227. 3
93806630228. 4



Question Number : 33 Question Id : 9380667765 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which is the correct increasing order of memory storage capacity?

A.1PB
B.1TB
C.1KB
D.1GB
E.1MB

Choose the correct answer from the options given below:

1.C.D,E,AB
2C,EED,AB
3.C,E,D,B,A
4 C,D,E,B.A
Options :

93806630229. 1
93806630230. 2
93806630231. 3
93806630232. 4

Question Number : 33 Question Id : 9380667765 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i USRI & &I el RIS T 1 g2

A.1PB
B.1TB
C.1KB
D.1GB
E.1MB

Id fau v fadedl @ € 9§l S

nNNN
ommo

m 9 O i
ww e p

$ A B
= ve M v

Options :

93806630229. 1
93806630230. 2
93806630231. 3
93806630232. 4



Question Number : 34 Question Id : 9380667766 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. One KB has 1024 bytes.

B. Cache memory is a secondary storage.

C. Operating system is not an application software.
D. Hub is a network device.

E. ALU is a control unit.

Choose the correct answer from the options given below:

1. A, D and E Only
2. A, B and C Only
3. A, Cand D Only
4. C,D and E Only
Options :
93806630233. 1
93806630234. 2
93806630235. 3
93806630236. 4

Question Number : 34 Question Id : 9380667766 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafafad syl H 9 o 9 82

A TH bl H 1024 93¢ gid g

B. B (Cache) HHRI U& fgdlad HSR g1

C. TR ReH Uh Uiih R e ddR gl o
D. 84 U Hedd Ul g |

E. T Ud. g, TP dld gfe g

4 few T faab et # 1 9l SR 9

1.Hdd A, D 3R E
2. HAd A, B3R C
3. HAd A, C IR D
4. Had C,D3IRE
Options :
93806630233. 1
93806630234. 2
93806630235. 3
93806630236. 4




Question Number : 35 Question Id : 9380667767 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST1 LIST-II
(Hardware) (Function)
A.|Modem I. |Regenerate signals
B.|Router II. | Physical address
C.|NIC II1. | IP address
D.|Repeater IV. [Conversion of analog and digital signal

Choose the correct answer from the options given below:

1. A-1V, B-1II, C-II, D-I
2. A-IIL B-11, C-1, D-1IV
3. A1V, B-1I, C-1IL D-I
4. A-1, B-1I, C-1IV, D-III

Options :

93806630237. 1
93806630238. 2
93806630239. 3
93806630240. 4




Question Number : 35 Question Id : 9380667767 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

1 11

@gm @Th
A.|HrEH L | RS &l gSiFd Bl
B.[I¥R I1. | ftpferepd (Hifde) 39
C.|uH. 3. . 1L | 313, U1, 'S

TN 3R ffored R &
D.|Rdix ol I
- feu 77 fdsbedl # E Hel STk &1 994 DI .

1. A-IV, B-III, C-II, D-I
2. A-III, B-I1, C-1, D-IV
3. A-IV, B-11, C-II1, D-I
4. A-1. B-11, C-IV, D-III

Options :

93806630237. 1

93806630238. 2

93806630239. 3

93806630240. 4

Question Number : 36 Question Id : 9380667768 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

International day for biological diversity is observed on

1. 2 February

2.22 April

3. 22 May

4. 16 September
Options :
93806630241. 1
93806630242. 2
93806630243. 3
93806630244. 4



Question Number : 36 Question Id : 9380667768 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

vid fafderdr gq SIqRIPI faad &1 9% # 9 & {3/ Sird g2

1.2 Hadl
2. 22 3Yd

3. 2208

4. 16 dsR
Options :
93806630241. 1
93806630242. 2
93806630243. 3
93806630244. 4

Question Number : 37 Question Id : 9380667769 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is a chemical treatment process in context to water treatment?

l. Sedimentation
2. Coagulation
3. Filtration
4. Grit Chamber
Options :
93806630245. 1
93806630246. 2
93806630247. 3
93806630248. 4

Question Number : 37 Question Id : 9380667769 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oI IUAR & a4 & (A9 & U &9 O I SuaR] ulhar g2

1. 3{ddlad

2. WG

3. frede

4. FedR
Options :
93806630245. 1
93806630246. 2
93806630247. 3
93806630248. 4




Question Number : 38 Question Id : 9380667770 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are sinks of atmospheric carbon dioxide (CO;)?

A. Wetlands
B. Oceans
C. Soil

D. Elephants

Choose the correct answer from the options given below:

1. A and B Only
2. Cand D Only
3.A,Band C Only
4. A B,Cand D
Options :
93806630249. 1
93806630250. 2
93806630251. 3
93806630252. 4

Question Number : 38 Question Id : 9380667770 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e A9 DH-5H JaHSdg Bl SHEATRIES & [Ud g2

A. 3T Y&
B. HelHIX

C. Hal
D. et

-4 feu e fas et 7 4 9l SR -

|.Hdd A 3R B
2. Hadd C AR D
3. HId A, B3R C

4.A,B,C3RD
Options :
93806630249. 1
93806630250. 2
93806630251. 3
93806630252. 4



Question Number : 39 Question Id : 9380667771 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How much more energy is released in an earthquake whose value is 4 on Richter Scale than in an
earthquake whose value 1s 3 on Richter Scale?

. Twice
.10 %
. 10 tumes
4. 50 %

Tad [od =

Options :

93806630253. 1
93806630254. 2
93806630255. 3
93806630256. 4

Question Number : 39 Question Id : 9380667771 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e Thdl W 3 WY d1dd YbU B goi-1 H R Thad UR 4 719 dlel Yoby o Tl 31fds 36l
DI Ol gIdl g2

1. QAT
2.10 %
3. 10 7T

4.50 %

Options :

93806630253. 1
93806630254. 2
93806630255. 3
93806630256. 4



Question Number : 40 Question Id : 9380667772 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence, from smaller to larger, of following photovoltaic related systems?

A. Module

B. Array

C. Solar cell
D. Array Field

Choose the correct answer from the options given below:

1.C,A.D.B
2.C,A.B,D
3. B, 1A €
4.D,.B, A, C
Options :

93806630257. 1
93806630258. 2
93806630259. 3
93806630260. 4

Question Number : 40 Question Id : 9380667772 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HHIREd USRI 3 &l Bid U 93 B 3R HaRYT B D1 ULl HH AT A

A. TS
B. WY (p)
c. 9R I9d

D. R BIte (g- &)
-4 feu e fas et 7 4 9l SR -

1.C,A,D,B

-b-UJ[\J

2
-B,
B,

U:JUP
> L

3

ey Mg

Options :

93806630257. 1
93806630258. 2
93806630259. 3
93806630260. 4



Question Number : 41 Question Id : 9380667773 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

NEP 2020 emphasized the integration of value education to promote

1. life skill education among students.
2. religious education among students.
3. Holistic development among students
4. skill development among students

Options :

93806630261. 1

93806630262. 2

93806630263. 3

93806630264. 4

Question Number : 41 Question Id : 9380667773 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST e Hifa (@ 5 W, 2020 # HEfeiiad B uidnfed B39 & foit HeamR® fan & THH-
R 99 fear mne:

1. BEI ¥ Siiad DI 211 &l Uiciigd dl
2. B H UiH® 1218 &1 uidigd oA

3. B H AT [dp

4. B H DI [AHN BT derdl &1

Options :

93806630261. 1
93806630262. 2
93806630263. 3
93806630264. 4

Question Number : 42 Question Id : 9380667774 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The full form of MOQC is

1. Massive Open Optional Course.
2. Massive Open Online Course.
3. Multimedia Open Online Course.
4. Multimedia Open Optional Course.
Options :
93806630265. 1
93806630266. 2
93806630267. 3
93806630268. 4



Question Number : 42 Question Id : 9380667774 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 371 3t (Mooc) T JUf U §

1. 98d Gl U3 Uréashy

2. §8d G 3Hdig Giédshy
3. Ao [HITSAr GaT 3T-arg- UredshH
4. A ST Gl U Urédsdh

Options :

93806630265. 1
93806630266. 2
93806630267. 3
93806630268. 4

Question Number : 43 Question Id : 9380667775 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in correct sequence to establish effective governance in higher
education institutions.

A. Formulate policies that ensure transparency and accountability.

B. Involve faculty, staff and students in decision-making process.

C. Establish a governing body with clear roles and responsibilities.

D. Monitor and evaluate the implementation of policies and strategies.
E. Review and update policies based on feedback and changing needs.

Choose the correct answer from the options given below:

1.A.B,D.E,C

2.C,A;.B.D.E

3 B.EAFD

4.D.E,C,A,B
Options :

93806630269. 1
93806630270. 2
93806630271. 3
93806630272. 4



Question Number : 43 Question Id : 9380667775 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I Rreq 1 TRA13Ht H uHTdl YRR R0 & & foie Fafiiad @edl & Ugl 3Hd |
HIRRYd Hifol |

A. U il TUR SR S URERIAT 3R Sidtddgl GHYd H

B. F0ig o1 &1 ufdhar 1 seamae! (hdbed]) HHATRAT R BHT B M BT

C. Wy Yfsrail AR fordeiRal aigd Trfl Ad/E $f Q- o1

D. il SR Il & fohdr-a &1 3dIe 3R Gedich dl

E. U 3R decidl sRexd! IR SR Hifadl B Sl S9M1 3R 3D GHie Bl

fid feu g fasbedl # 1 Al Ik 9

Iy B B B

2.C,A.B,D,E

3.B,CAED

4.D.E.C,A,B
Options :

93806630269. 1
93806630270. 2
93806630271. 3
93806630272. 4

Question Number : 44 Question Id : 9380667776 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the Vedic Period, as Education was Idealistic in nature, the Acharyas laid stress upon

A. Creation of an aptitude for the development of nation
B. Worship of God

C. Fulfillment of desire and needs

D. Religiousness

E. Formation of character

Choose the correct answer from the options given below:

1. A, D and C Only
2. B, D and E Only
3.).A,B,C,Dand E
4. A, B, D and E Only
Options :
93806630273. 1
93806630274. 2
93806630275. 3
93806630276. 4



Question Number : 44 Question Id : 9380667776 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afed g o, Fifd fRign o1 U sieRiard] udbfa 41, srard Fafafad w ad ¢d 3-

A. 1Y & fab™ & 7T AfHgRT BT o
B. YR DI SURHI

C. 313 3R =l &I gfd

D. Y1fddr

£ 4R o
1< fau v fadedt @ € Tl ST I

. Had A, D3R C
2. HAdd B, D AR E

3.A.B,C,D3RE

4. PAd A, B,D 3R E

Options :

93806630273. 1
93806630274. 2
93806630275. 3
93806630276. 4

Question Number : 45 Question Id : 9380667777 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
(Name of Institutions) (Year of Establishment)
A |AICTE 1. |1972
B.|ICHR II. 1945
C.|NITI Aayog L. [1977
D.|ICPR IV. (2015

Choose the correct answer from the options given below:

1. A-I, B-III, C-IL, D-IV
2. A-I1, B-1, C-IV, D-III
3. A-IL B-1, C-II1, D-IV
4. A-1, B-11, C-II1, D-1IV

Options :

93806630277. 1

93806630278. 2

93806630279. 3

93806630280. 4



Question Number : 45 Question Id : 9380667777 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

;5;?_1 -II
(RIS & ) (RITTT T
Aluasdids I |1972
B.| 318 U T4 3R IL. | 1945
c.|Hifa smam 11| 1977
D. |37 di Ui 3R IV.|2015
A T U fadedl § U Ul 3R &l 904 Dol :

1. A-I, B-III, C-II, D-IV
2. A-11, B-1, C-IV, D-III
3. AL B-1, C-II1, D-IV
4. A-1, B-1I, C-I1II, D-1IV
Options :
93806630277. 1
93806630278. 2
93806630279. 3
93806630280. 4
Sub-Section Number : 3
Sub-Section Id : 938066313
Question Shuffling Allowed : No



Question Id : 9380667778 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

Self-directed learning, in its broadest meaning, describes a process in which individuals take the
initiative with or without the help of others, in diagnosing their learning needs, formulation of
learning goals, identifying resources for learning, choosing and implementing learning strategies
and evaluating learning, outcomes. Thus, it is important to attain new knowledge easily and
skillfully for the rest of his or her life.

What is the need for self-directed learning? One reason is that there is convincing evidence that
people, who take the initiative in learning, learn more things and learn better than people waiting
to be taught. the second reason is that self-directed learning is more in tune with our natural
processes of psychological development; an essential aspect of maturing is developing the ability
to take increasing responsibility of our own lives to become increasingly self-directed. The third
reason is that many of the new development in education put a heavy responsibility on the
learners to take a good deal of initiative in their own learning. To meet the challenges in today’s
instructive environment, self-directed learning is most essential.

Sub questions

Question Number : 46 Question Id : 9380667779 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An individual, by virtue of self-directed learning,

1. can independently take initiatives
2. remains passive and waits for directions
3. always depends on others
4. feels helpless in the absence of any support.
Options :
93806630281. 1
93806630282. 2
93806630283. 3
93806630284. 4

Question Number : 47 Question Id : 9380667780 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Self-directed learning is useful as

. It is an innovative way of learning

. 1t is full of challenges

. it enables people to learn more things and learn better
4. it is cost-effective

lad g =

Options :

93806630285. 1
93806630286. 2
93806630287. 3
93806630288. 4

Question Number : 48 Question Id : 9380667781 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which of the following best describes self-directed learning?

1. Out bound learning
2. Instructive learning
3. Active learning
4. Repulsive learning
Options :
93806630289. 1
93806630290. 2
93806630291. 3
93806630292. 4

Question Number : 49 Question Id : 9380667782 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the author, modern environment is

. restrictive

. not very conducive
. Instructive

4. impracticable

fad D =

Options :

93806630293. 1
93806630294. 2
93806630295. 3
93806630296. 4

Question Number : 50 Question Id : 9380667783 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The synonym of the word ‘diagnosing’ is

1. looking for
2. identifying
3. inspecting
4. observing
Options :
93806630297. 1
93806630298. 2
93806630299. 3
93806630300. 4



Question Id : 9380667778 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
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Sub questions

Question Number : 46 Question Id : 9380667779 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T MG RA e 9 $Ig ofad 9 0 U &1 R ahdl g2

|. Wda U Y Ugd o Udhdl g |

2. TS Y Tgdh (a0 B Ucie H bl gl

3. gUR Rl W R g b g

4. Thd! 3 qude o 319 T HEH 3gHd B Thdl g

Options :

93806630281. 1
93806630282. 2
93806630283. 3
93806630284. 4

Question Number : 47 Question Id : 9380667780 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W-FERE st 9 g Suantl 8-

1. I8 3HTH BT U Ha=Rd Ribl gl

2. 98 A qui g |
3. g <l &l e el 9 3dH HEH § 93 a1 5 |

4. g ANTd Hed $1 3G 1Y & drell g

Options :
93806630285. 1
93806630286. 2



93806630287. 3
93806630288. 4

Question Number : 48 Question Id : 9380667781 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 W U &F 91 WA Ra e &1 gaiay guiH $dl g2

1. STeI {A@t i

2. GRS T
3. Gl JHUTH
4. UfdHy® S

Options :

93806630289. 1
93806630290. 2
93806630291. 3
93806630292. 4

Question Number : 49 Question Id : 9380667782 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gD & YR, YD wafaRe

WGEECA
2. 3% Ygad ol o

R ) IS
4. HIEIRD ©

Options :

93806630293. 1
93806630294. 2
93806630295. 3
93806630296. 4

Question Number : 50 Question Id : 9380667783 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SEHE R CAG A Rt A

L. dcfIRT Pl

2. UgdH BT
3. ey
4. 3adIH

Options :

93806630297. 1
93806630298. 2
93806630299. 3
93806630300. 4



Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Comparative Literature

938066106
2

Online
Mandatory
92

92

200

0

1
938066314
Yes

Question Number : 51 Question Id : 9380667784 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is NOT true about Hutcheson Macaulay Posnett?

1. He was deeply interested in the relation of literature to social life.

2. He was trained as a barrister in his native Dublin.

3. His book Comparative Literature was published in 1886.

4. He accepted the post of professor of Classics and German at the University of Oxford.

Options :

93806630301. 1
93806630302. 2
93806630303. 3
93806630304. 4

Question Number : 51 Question Id : 9380667784 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FERId H ¥ & F 91 $YH 899 Hdbldd UHe & dR H I Jel o2

1. 98 Ui & JHIND Siia- 3 Uy H 1154 &id 3dd 4|

2. 9% 30 Td W Sdfe § 9%’ & 30§ UiRIféd gul

3. 31| W HEN/CT [cic¥ar 1886 H UDIIRId g5 |

4. 3ol AHTFTRIS [dyiaenad | aaliRied 3R SHA & UIBIR & Ug WidR fdar 47|

Options :

93806630301. 1
93806630302. 2
93806630303. 3
93806630304. 4




Question Number : 52 Question Id : 9380667785 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following works is said to be a major early example of comparative study in the
mode of oppositional cultural criticism?

1. Nietzsche's The Birth of Tragedy

2. Goethe's Faust

3. Rene Wallek's The Crisis of Comparative Literature
4. Freud's Totem and Taboo

Options :

93806630305. 1
93806630306. 2
93806630307. 3
93806630308. 4

Question Number : 52 Question Id : 9380667785 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afaRad o O Sl S uiorid giknidd e o fd © JaFdd g $1 U
T RN ISTER01 Al Sl g2

L AR A 2 afitp 2egh
2. 71 Bl Bl
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Options :

93806630305. 1

93806630306. 2

93806630307. 3

93806630308. 4

Question Number : 53 Question Id : 9380667786 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year, C.L. Wrenn gave the Presidential Address of the Modern Humanities Research
Association in Chicago entitled “The Idea of Comparative Literature™?

1. 1969
2.1961
3. 1968
4. 1967

Options :

93806630309.
93806630310.
93806630311.
93806630312.

DW=



Question Number : 53 Question Id : 9380667786 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fobg ay o, I.udl. 39 A /3 3151391 3fitp Hadfed [ered=r 2 U RIbrT O siyfd
HHEdDT QN TS Dl e aieH fear 4

l. 1969
2. 1961
3. 1968
4. 1967
Options :
93806630309.
93806630310.
93806630311.
93806630312.

AW N =

Question Number : 54 Question Id : 9380667787 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who introduced the idea of a “lesbian continuum™ to denote a range of experiences between
women, including mutual practical and political support, bonding against male tyranny and
sharing a rich inner life?

1. Gloria Anzaldua
2. Adrienne Rich
3. Monique Witting
4. Luce Irigaray
Options :
93806630313. 1
93806630314. 2
93806630315.3
93806630316. 4



Question Number : 54 Question Id : 9380667787 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fha G dgIRe 3R Weifdd HdH, Gy RS2 & faeg T86ls 3R 4
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1. TR 3fSITeg 3
2. UfgTH R
3. A fafda

4. QTR

Options :

93806630313. 1
93806630314. 2
93806630315. 3
93806630316. 4

Question Number : 55 Question Id : 9380667788 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Freud, the latent dream thoughts are obliged to undergo alteration, a process he

called :

l. interpretation of dreams
2. dream - distortion

3. dream - work

4. dramatization of dreams

Options :

93806630317. 1
93806630318. 2
93806630319. 3
93806630320. 4



Question Number : 55 Question Id : 9380667788 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I3 & YR, 3fodd=1/Uwd WY [ddR 3Hardd: URadd &1 Uishar U ToRd g, 34 Uil
DIFBH ... ool Tl
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Options :

93806630317. 1
93806630318. 2
93806630319. 3
93806630320. 4

Question Number : 56 Question Id : 9380667789 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of their publication

A. Wayne Booth's The Rhetoric of Fiction

B. Wolfgang Iser's The Act of Reading

C. Judith Butler's Gender Trouble : Feminism and the Subversion of Identity
D. Foucault's The Archaeology of Knowledge

E. George Lamming's The Pleasure of Exile

Choose the correct answer from the options given below:

1.C,AE.D.B

2.EEAD,B,.C

3B,C.D,E. A

4. A, CD,B.E
Options :

93806630321. 1
93806630322. 2
93806630323. 3
93806630324. 4



Question Number : 56 Question Id : 9380667789 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630321. 1
93806630322. 2
93806630323. 3
93806630324. 4

Question Number : 57 Question Id : 9380667790 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following novels based on stream-of-consciousness technique in order of their
publication

A. Mrs. Dalloway

B. Ulysses

C. The Portrait of a Lady

D. To the Light House

E. The Portrait of An Artist as a Young Man

Choose the correct answer from the options given below:

I, E B A

2.D.B,CAE

L. EBD.AE

4 A,B,C,D,E
Options :

93806630325. 1
93806630326. 2
93806630327. 3
93806630328. 4



Question Number : 57 Question Id : 9380667790 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630325. 1
93806630326. 2
93806630327. 3
93806630328. 4

Question Number : 58 Question Id : 9380667791 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Marxist criticism?

A. Marxist critics continued to reinterpret and develop the insight of Marx and Engels.
B. Fredric Jameson was a major British Marxist critic.

C. A critique of ideology could emerge through the literary text.

D. Pour Marx is the famous text by Louis Althusser.

E. Culture and Society is not the critique of capitalism in English Literary tradition.

Choose the correct answer from the options given below:

1. B, C and D Only
2. A, C and D Only
3. A,Band D Only
4. A, B and C Only
Options :
93806630329. 1
93806630330. 2
93806630331. 3
93806630332. 4



Question Number : 58 Question Id : 9380667791 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

93806630329. 1
93806630330. 2
93806630331. 3
93806630332. 4

Question Number : 59 Question Id : 9380667792 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about the comparative literature.

A. The emergence of literary theory has broadened the horizon of comparative literature.

B. Literary texts are sites where a coherent view of cultural heritage can be defended.

C. Universal literary history and scholarship are problematic ideas.

D. Categories like texts, reader and tradition are sets of relationship and not absolute entities.
E. The idea of a ‘text’ in a multilingual society will be same as in a monolingual society.

Choose the correct answer from the options given below:

1. B, D and E Only
2. A, C and D Only
3. A, B and EOnly
4. C, D and E Only
Options :
93806630333. 1
93806630334. 2
93806630335. 3
93806630336. 4



Question Number : 59 Question Id : 9380667792 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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|.Hdd B, D 3R E
2.&Hdd A, C IR D
3. Hdd A, B AR E
4. $Had C,D3IRE
Options :
93806630333. 1
93806630334. 2
93806630335. 3
93806630336. 4

Question Number : 60 Question Id : 9380667793 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1 LIST-IT
A.| Wellek and Warren 1 g?:f ?izgzjg Lueratime: dnawn
B.|Swapan Majumdar IL. | Comparative Literature
C.|Gentzler E. 1. | Theory of Literature
D.|Henry Gifford IV. | Contemporary Translation Theories

Choose the correct answer from the options given below:

1. A-II, B-1, C-III, D-IV
2. A-1I, B-1II, C-1IV, D-1
3. A1V, B-1, C-1II, D-II
4. A-1I1, B-1, C-IV, D-II

Options :

93806630337. 1
93806630338. 2
93806630339. 3
93806630340. 4



Question Number : 60 Question Id : 9380667793 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

i1 eI
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1. A-II, B-1, C-III, D-IV
2. A-I1, B-III, C-IV, D-1
3. A1V, B-1, C-1II, D-II
4. A-III, B-1, C-IV, D-II

Options :

93806630337. 1

93806630338. 2

93806630339. 3

93806630340. 4

Question Number : 61 Question Id : 9380667794 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which age is also called Romantic Age by Hemanta Kumar Sarma in Asamiva Sahitvat
Dristipat?

1. First Stage

2. Sankar's Age

3. Post - Sankar's Age
4. Modern Age

Options :

93806630341. 1
93806630342. 2
93806630343. 3
93806630344. 4



Question Number : 61 Question Id : 9380667794 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oHd DUR X1 gR1 3F1E97 Flfgdd efdyrd © fbd o &l IHifed i 1l &gl Sidl g2

1. UYH o0
2. T P Bl
3. SR PIPIciH DId
4. 3M1YfAdb PIct

Options :

93806630341. 1
93806630342. 2
93806630343. 3
93806630344. 4

Question Number : 62 Question Id : 9380667795 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who was the first Indian critic to propose ‘sociology of literature’ as a distinct field of study?

1. Bharata Muni
2. Rajashekhara
3. Kuntaka
4. Pt. Jaggannath
Options :
93806630345. 1
93806630346. 2
93806630347. 3
93806630348. 4

Question Number : 62 Question Id : 9380667795 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y & AR &7 & =9 H Yified & YHSIRIRG &l UKilfad 3 diell UYH R
S DI UI?

1. Rd gfH
2. JSIRRAT

3. dd

4. UfSd STy
Options :
93806630345. 1
93806630346. 2
93806630347. 3
93806630348. 4



Question Number : 63 Question Id : 9380667796 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a pre-British Age as suggested by Dinesh Chandra Sen in
Bangabhasha O Sahitya in the context of Bangla literature?

1. Hindu and Buddhist age
2. Islamic and Persian Age
3. The Age of Reforms

4. The Age of Gauda

Options :

93806630349. 1
93806630350. 2
93806630351. 3
93806630352. 4

Question Number : 63 Question Id : 9380667796 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qiveT Hifgd & el O RgfeiRgd o 9 =91 §74797 off Gifigg ™ fa=r 9 U9 gR1 g3l
1 gdfafew &rd 98 g2

1. T3 3R o I
2. ST 3R BRYUL BId
3. GURI BT BT

4. 7S B HTd
Options :
93806630349. 1
93806630350. 2
93806630351. 3
93806630352. 4

Question Number : 64 Question Id : 9380667797 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who defined Literary history as *“a study of a series of works arranged in chronological order as
integral parts of the historical process?”

1. Ralph Cohen

2. G. N. Devy

3. Claudio Guillen
4, Rene Wellek

Options :

93806630353. 1
93806630354. 2
93806630355. 3
93806630356. 4



Question Number : 64 Question Id : 9380667797 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fbg aifgfdd sfdgr o! <Ufdgifie ufthar & 31 il & U d SIdbHH IR Hdfd
Pl DI Y & T & =g H TR fhar

1. P Dlgd
2. Sfl. U, a4l

3. F31S 3 gl
4.3 ddD

Options :

93806630353. 1
93806630354. 2
93806630355. 3
93806630356. 4

Question Number : 65 Question Id : 9380667798 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a terminology of the classification of novel given by Bhalchandra
Nemade?

1. Kriti - oriented novel

2. Riti - oriented novel

3. Pratikriti - oriented novel
4. Prakarti - oriented novel

Options :

93806630357. 1
93806630358. 2
93806630359. 3
93806630360. 4

Question Number : 65 Question Id : 9380667798 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafeRad & O S Yidkg 491 gR1 Ued SU-URN & diIdbRU &l saldedl g1 ¢

1. HiI-3HH A

2. difd-3=1El Sua™

3. Ufdpfd-34d! Uy
4. Upfd-34dl Iu-ary

Options :

93806630357. 1
93806630358. 2
93806630359. 3
93806630360. 4




Question Number : 66 Question Id : 9380667799 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following books in chronological order of their publication:

A. Brassey Helhed's 4 Dictionary of English, Persian and Arabic

B. Hans Robert Jauss's Literary History as a Challenge to Literary Theory
C. R. S. Crane's Critical and Historical Principles of Literary History

D. Francis Balfour's The Bhagvet Geeta

E. Gyorgy Lukacs's Notes on the Theory of Literary History

Choose the correct answer from the options given below:

LB B A
2.A,.D,E,C,B
3.D.A,C.E,B
4. C,E,B,D. A

Options :

93806630361. 1
93806630362. 2
93806630363. 3
93806630364. 4

Question Number : 66 Question Id : 9380667799 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRad Gds! &1 39d UHIRM & Bl HTUR Hded Hi|

A. ST Blcos I U SqRRT 31w Scr3 Uik Us sRfdd

B. 89 eC S Bl fe7edd foeed] U U del 2 feret ikt

C. 3R. OY. th Dl fdldcl U3 fevciRabed ARG 3fitp [cieR] o]
D. Wil e R $1 fa Yrrad fiar

E. Siloll gb 1 &1 F1cq 31 [ 2Rt 3 fered fged

i3 oy U et 98 SR

nogpw
o0
O m O
> W o

[
Poml
Pmom

B S I T o T

Options :

93806630361. 1
93806630362. 2
93806630363. 3
93806630364. 4



Question Number : 67 Question Id : 9380667800 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following:

A. Islamic domination affected the northern languages and literatures more profoundly and
gave India a new literary language, Urdu.
B. British colonial domination affected the upper layers of Indian society and gave India a
literary language, Indo-English.
C. Some languages such as Sanskrit, Persian and English have been the languages of Political
domination.
. Anant is the symbol of space in Hindu iconography.
. The great Indian epic Ramayana was also called Jaya which was itihasa of a king's triumph
in a war.

i 3

Choose the correct answer from the options given below:

1. A, D and E Only
2. A, B and D Only
3. A, B and C Only
4. A, C and E Only
Options :
93806630365. 1
93806630366. 2
93806630367. 3
93806630368. 4



Question Number : 67 Question Id : 9380667800 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafcRad § U O Syl &1 9949 B

A. SEATH TYd H ITRT U131 3R g i 3ifeldh Uselal ¥ yHifad fdhar a1 URd &l
Ud A4 Tifgfdd T, 3¢ U D

B. fofe=r uy@ = YR 90N & S0 d9d &l YUIfdd fHa1 941 YRd &I Us Hiigidd
HIYT, Sol-SFeT=l U &l

C. T¥gd, BRYT 3R 3iUSH S Sidud ST IS fdS TYd B YINY IET |

D. 3fid g5 USRI 1 WY BI Uclld G|

E. TgM YR HgThled /g0 &l oig i &gl 741 41 51l 45 1 (S &1 fa5g &1 3idgr™
o |

|.$ITA. D 3R E
2. Hdd A, B3R D
3. Hdd A, B3R C
4. had A, C 3R E
Options :
93806630365. 1
93806630366. 2
93806630367. 3
93806630368. 4



Question Number : 68 Question Id : 9380667801 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following:

A. The Gregorian calendar in its civil usage is designed to maintain synchrony with the tropical
year.

B. Aristotle said, “Time is the moving image of the unmoving eternity.”

C. A lunar calendar follows the lunar phase cycle without regard for the tropical year.

D. Christians prescribed the pure moon calendar that is not leaped so that only once in 32 years
it aligns with the solar calendar.

E. The lunisolar calendar has sequence of months based on the lunar phase cycle.

Choose the correct answer from the options given below:

1. A, B and D Only
2.B, C and D Only
3. A, C and E Only
4. B. D and E Only
Options :
93806630369. 1
93806630370. 2
93806630371. 3
93806630372. 4

Question Number : 68 Question Id : 9380667801 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfRad # U T oyl &1 994

A. ANTR® IUGNT H WNRIH bl &l IWb iy ay I i 941 v & fau
3{fieietd fhar T gl

B. 3{%&] 4 dgl, “dId [RR WYdd dI 9dATdaH Uidfata g1

C. U IR dois SUdhicaHg 9 IR [qaR fHU fa-1 TR =R01 b &1 39TeH Hdl o

D. U4l A g TR Dol fafgd fan S iy -1gT U1, 39 USHR IE 32 991 § ddd Udh dR
¥4 dois U Wad gldl gl

E. THMNIOR dhcls) H TR Ieh IRU1 IR 3T HEHI/ArE! &l 3 gidi gl

1. ad A, B 3R D
2. HIA B, C 3R D
3. Had A, C3IRE
4. Had B, D AR E

Options :

93806630369. 1
93806630370. 2
93806630371. 3
93806630372. 4




Question Number : 69 Question Id : 9380667802 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Literary Languages chronologically according to their history:

A. Marathi
B. Tamil

C. Oriya

D. Kannada

Choose the correct answer from the options given below:

1.D.A,C,B
2.B,CA D
3.D.B,.C.A
4.B,D,A,C
Options :
93806630373. 1
93806630374. 2
93806630375. 3
93806630376. 4

Question Number : 69 Question Id : 9380667802 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad wfgfds ywsl & 34 3fdg™ & SR BIdhHHYUR Hal¥d b1

A. TR
B. diAd
C. s
D. HAS

19 oy U et 3 98 SR

1.D.AC.B
2B, C.A D
3.3.D,B,C,A
4.B,D.A,C
Options :
93806630373. 1
93806630374. 2
93806630375. 3
93806630376. 4




Question Number : 70 Question Id : 9380667803 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
A.|John A. Gilchrist I. |Time as a Metaphor of History
B.|Ram Vilas Sharma I1. | The History of Hindustan
C.| Alexander Dow I11. | 4 Dictionary of English and Hindustani
D.|Romila Thapar IV. | Bhartiva Sahitva Itihasa ki Samasyaen

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-I
2. AL B-1II, C-1II, D-IV
3. A-Il, B-IV, C-II1, D-1
4. A-IIL, B-1V, C-II, D-1

Options :

93806630377. 1

93806630378. 2

93806630379. 3

93806630380. 4

Question Number : 70 Question Id : 9380667803 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

L I
A |5 U et L [eew O T HeTHR 1 R
B. |19 fdarg i 11 | & fg &1 3ifth fg-<Id
C.| 3IeR S 111 | T fSa=mRT 3w 3 s Regar
D. | T YTR IV. | YR Fifgd 3fcerd o §am
AId fGU T fadeui & © IEt SR &1 98 Hifolu -

1. A-IT, B-III, C-IV, D-I
2. A1, B-IIL, C-IL, D-IV
3. A-IL B-IV, C-1I1, D-I
4. A-IIT, B-1V, C-I1, D-1

Options :

93806630377. 1

93806630378. 2

93806630379. 3

93806630380. 4




Question Number : 71 Question Id : 9380667804 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said, “Comparison is right reason for us because, one, we are multilingual. and two. we are
Third World.”

1. Cyril Birch
2. Amiya Dev
3.James J. Y. Liu
4, Andrew Plake

Options :

93806630381. 1
93806630382. 2
93806630383. 3
93806630384. 4

Question Number : 71 Question Id : 9380667804 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{9 Sl YT, “di-1 gAR ot Ugl HRUI  Fifdh Uh, TH gl g, 9T &l, 30 diedl g

.
I'.".l

1. i fod

2. 3fla ¢q

3. SR ST, forg

4. U3 Wi
Options :
93806630381. 1
93806630382. 2
93806630383. 3
93806630384. 4

Question Number : 72 Question Id : 9380667805 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who redefined world literature as “a mode of circulation and of reading” rather than a particular
canon, a way of reading that pays particular attention to the reception of a text beyond its culture
of origin?

1. Gayatri C. Spivak
2. Pascale Casanova
3. David Damrosch
4. Edward Said
Options :
93806630385. 1
93806630386. 2
93806630387. 3
93806630388. 4



Question Number : 72 Question Id : 9380667805 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fpa- fay wifga &! fab i fafRiy Rigid &1 99U «ua+ SR uRi=Ru/aRyarg of dfa- &
U H g aRUId fhar 8, 5t fdhdl 3y & iR ide I¢7HE J IR 3! Igddl IR {92 &H
& D1 UsH 31 Afd 82

L. M . "idid
2. URdhc] B
3. Sfd8 SR

4. USds Usq

Options :

93806630385. 1
93806630386. 2
93806630387. 3
93806630388. 4

Question Number : 73 Question Id : 9380667806 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which book, Glanville Price specifically excludes the Irish of the Republic of Ireland, for he
recognises the implications of the term ‘Britain’?

. The Languages of Britain

2. The History of Britain

3. The People of Britain

4. The Comparative Literature of Britain

Options :

93806630389. 1
93806630390. 2
93806630391. 3
93806630392. 4



Question Number : 73 Question Id : 9380667806 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fhd gxdd H, ieifde Uigy fafRy U ¥ 3RS VRIS & SR & sfudfsld &wd g,
Hifd 98 Weg fe & [Migarl &l ugdHd g2

1. [ &dor 3fitp 9=
2. I3 IeET 3t [T
3. I3 diger 3iitp f9e
4. [q PARIT feredar i fdc
Options :
93806630389. 1
93806630390. 2
93806630391. 3
93806630392. 4

Question Number : 74 Question Id : 9380667807 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has defined world literature ““as a particular epistemology, a way to read that regularly
places its readers in the unnerving moment in which a strange text is made at least partly familiar
and the familiar canonical is made at least partly strange™?

1. Vilashini Cooppan
2. Claudio Gullen
3. Erich Maria Remarque
4. Phillip H. Rhein
Options :
93806630393. 1
93806630394. 2
93806630395. 3
93806630396. 4



Question Number : 74 Question Id : 9380667807 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fhaa 3y QI &1 <ud Ot 3 Hiuin, Us s Ofd St Fafid U 3 310 uiés! ol
Sfeardia ual d SR Sl g orad Uh Suiid Uy $H- -5 3f2d: IR fdhar s
© dUI YR IRl 1 HH-U-HH 3i20d: IR B Sl g, & =u H gRHIRd fdhar
U2

1. AR uA

2. aﬁﬁ%\%ﬁﬂ%ﬁq

3. SRa AIAr ¥ aRE,
4. U g =

Options :

93806630393. 1
93806630394. 2
93806630395. 3
93806630396. 4

Question Number : 75 Question Id : 9380667808 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said “National Literature is now rather an unmeaning term™?

1. Rabindranath Tagore
2. Goethe
3. Ronald Sutherland
4. Robert Kroetsch
Options :
93806630397. 1
93806630398. 2
93806630399. 3
93806630400. 4

Question Number : 75 Question Id : 9380667808 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fohg1 gl o, P Wig A (e U R e 517 2

) aa;ﬂu %]ilq
2.7
3. IS Jodais

4.0d¢ BT
Options :
93806630397. 1
93806630398. 2
93806630399. 3
93806630400. 4




Question Number : 76 Question Id : 9380667809 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order of their publication:

A. David Damrosch's What is World Literature

B. Claudio Guillen's The Challenge of Comparative Literature

C. Mads Rosendahl Thomsen's Mapping World Literature : International Canonization and
Transnational Literatures

D. Gerald Gillespie's By way of Comparison : Reflections on the Theory and Practice of
Comparative Literature

E. Theo O'haen's The Routledge Concise History of World Literature

Choose the correct answer from the options given below:

Options :

93806630401. 1
93806630402. 2
93806630403. 3
93806630404. 4

Question Number : 76 Question Id : 9380667809 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FAfIRad &1 39d UHTIH & HH H IR

A. STdS SHRIY D GIE 39 ges [clcdar

B. TSI 31 TZai &l /G deior 3t HERICT feicday

C. ATSEd YU AYASed Pl A7 gos [eda]: Fev-3I9d G599 U8
CIG=RHT feiedad

D. RIS [eRUIE &1 75 d 31 HUR RUia=ig 3 Iq 2gR¥] Us Didcq 3w Hreicd

E. {931 31l g9 B 13 &coia HIR fo¥c] 3t qes feicday
AId feu T fadm el o 9t 3R 9:

WMo e
0w

-

N> N

.

P B
Crow
sl@Nssles

Options :

93806630401. 1
93806630402. 2
93806630403. 3
93806630404. 4



Question Number : 77 Question Id : 9380667810 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following books in chronological order of their publication:

A. Nabaneeta Dev Sen's Counterpoints : Essays in Comparative Literature

B. Henry H. H. Remak's A Comparative History of Literature in European Languages :
Progress and Problems

C. Ulrich Weisstein's Comparative Literature and Literary Theory : Survey and Introduction

D. Charles Bernheimer's Comparative Literature in the Age of Multiculturalism

E. Francois Jost's Introduction to Comparative Literature

Choose the correct answer from the options given below:

I B BB

2CEBAD

3.D,E,C.AB

4.B,C,A.D.E
Options :

93806630405. 1
93806630406. 2
93806630407. 3
93806630408. 4

Question Number : 77 Question Id : 9380667810 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafciiad Qdd! &l 39d UHIRM & i T HafRid &1

A. TGl &d Y1 Bl HIFRGISCT : UL 37 HHINICT [clexar
B. o1 WU, XA® B T HIRICT [o¥c] S feiedar 37 JRITIF ctdoror: TN Us

GiscTrg
C. FART XA Dt HARICT feredar Us fere Rl @ikl §d Us gelsawriy
D. I GogHR Bl HANICT [eieday 59 Iq U 3itp HedldbeaRlciod
E. Thh 94 SN B CTSaRIA & HARICT feicar

i< feu g fdedl ¥ Tgl I -
1.E,D,B,A,C
2.C,E,B.A,D
3.D.E.C.AB
4.B,C.A.D,E
Options :

93806630405. 1
93806630406. 2
93806630407. 3
93806630408. 4



Question Number : 78 Question Id : 9380667811 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following points were accepted in the 1993 ACLA report?

A. A broader interpretive context is required for the study of literature.

B. The traditional Eurocentric definition of Comparative Literature is a useful category.

C. The production of literature should be compared to the production of music, philosophy or
law.

D. Comparative Literature departments should moderate their focus on high - literary discourse.

E. Comparative Literature as a discipline should not focus too much on theory.

Choose the correct answer from the options given below:

1. A. B and E Only
2. B, D and E Only
3. A, Cand D Only
4. B, C and E Only

Options :

93806630409. 1
93806630410. 2
93806630411. 3
93806630412. 4

Question Number : 78 Question Id : 9380667811 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafaiad ¥ 9 oY fdvg 1993 THIUAU Ruld @ WieR fdhu 7 &

A. T & 32 & [¢U U AUD ARATHS Y a0 g

B. JoHI&® TIiged B USURITd GIIU Bi-gd URHTNT Th IUaiil 9ofi ¢

C. Hifigd & ITe Bl Jo-1 GHiid, S, 3fdgy 3R fafY & e I ol ol
ElREY

D. daHId S ifed faUTT & S=-Hifgfdd [du=l ddt 3/q+ Biey o -RH! ) d1ieu|

E. U [qUAM & &0 H Ja-idd diied &l Rigid R i 9 18l <1 g ul

1.$hdd A, B3R E
2. $Id B, D 3R E
3. Hdd A, C 3R D
4. ®HAd B, C 3R E

Options :

93806630409. 1
93806630410. 2
93806630411. 3
93806630412. 4




Question Number : 79 Question Id : 9380667812 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Comparative Literature?

A. Comparative literature differs from the study of single literature not in method, but in matter,
attitude and perspective.

B. It can go on extending its area of operation- its ultimate limit is the literatures of the whole
world.

C. The comparatist does not want to come out of the confines of language and geography.
D. The comparatist knows that comparative literature is not a method of investigation.
E. Its strength and its weakness lie in its cosmopolitanism .

Choose the correct answer from the options given below:

1. B, C and E Only
2. A, B and E Only
3.A,Band C Only
4. C, D and E Only
Options :
93806630413. 1
93806630414. 2
93806630415. 3
93806630416. 4

Question Number : 79 Question Id : 9380667812 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JeTeTd Tiid & IR 1 FHfeiRad ¥ O S 9 &Y 94 82

A. Uhd HIfgd & 398 U oI qifgdd ufaft o g1, afcp sidded, sifigfi ek
ePBIU T 3 g

B. U8 30 YT &7 &l [GdRd & Udbdl g, 39D 9=A UiH1 4quf {3y ST g g

C. ORI HINT 3R 1Te T uRfY T §18R 78l 311 Il g

D. J-IRINE ST § b JaTddd Iifigd 39901 &l Uah fafe 11 3

E. 39! Jogd1/RIHT 3R HHCIRT sH] Fdo=igd § [igd g

i3 fow U el 4 98 SR G

1. $Id B, C 3R E
2. %hdd A, B 3R E
3. HId A, B3R C
4. ®Had C,DIARE

Options :

93806630413. 1
93806630414. 2
93806630415. 3
93806630416. 4




Question Number : 80 Question Id : 9380667813 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
Hugo Meltzl I. | Death of a Discipline
Julia Kristeva IL. | Present Tasks of Comparative Literature

Gayatri C. Spivak

III.

The Crisis of Comparative Literature

P IREIE

Rene Wellek

IV.

Women's Time

Choose the correct answer from the options given below:

1. A-I, B-III, C- IV, D-II
2. A-L B-1I, C-1V, D-III
3. A-IIL B-1V, C- 1, D-II
4. A-II, B-1V, C- 1, D-III

Options :

93806630417. 1

93806630418. 2

93806630419. 3

93806630420. 4

Question Number : 80 Question Id : 9380667813 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

-1 i
A.|ggl Heeold L | SY 31 T ISEHIalerT
B. | Siferan fpeear IL. | ol cRp Y 3fith HrRICd feiedav
c. | |t e 111 | [ IEIaY 311k Hhae]ed feicdae
D.|¥H ddd V.| gAg ergh
4 feu g fasbedl # 1 Ul STk &1 984 DI -

1. A-I, B-III, C- IV, D-1I
2. A1, B, C- TV, D-III
3. AL B-IV, C- 1, D-11
4. A-II, B-1V, C- 1, D-III

Options :

93806630417. 1

93806630418. 2

93806630419. 3

93806630420. 4




Question Number : 81 Question Id : 9380667814 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said that “Translation is the wandering existence of a text in a perpetual exile”?

1. J. Hillis Miller
2. Gideon Toury
3. Samuel Weber
4. ]. C. Catford
Options :
93806630421. 1
93806630422. 2
93806630423. 3
93806630424. 4

Question Number : 81 Question Id : 9380667814 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{9 Sl U, “3dIG feRIferd (Haigd o fhdl Tae &1 yrouRiid sikia g1

1. 9. fgfera faer

2. fifgeiA R

3. 9g3{d da¥

4. 5.4l bchls
Options :
93806630421. 1
93806630422. 2
93806630423. 3
93806630424. 4

Question Number : 82 Question Id : 9380667815 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Eugene Nida, “formal equivalence focuses™-

1. attention on the message itself, in both form and content. In such a translation one is

concerned with such correspondence as poetry to poetry, sentence to sentence and concept to

concept.

2. on the principle of equivalent effect, i.e. that the relationship between receiver and message

should aim at being the same as that between the original receivers and the SL message.
3. on the formal properties of a text which shows that Nida's categories can actually be in
conflict with each other.
4. on the norms governing the writing of letters vary considerably from language to language
and from period to period even within Europe.

Options :

93806630425. 1
93806630426. 2
93806630427. 3
93806630428. 4



Question Number : 82 Question Id : 9380667815 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
7o 8T & AR, «3N=R® YAl [ R Hfad gidi e

1. UTET 3R 3idasd, aF1 § W U6 W & $gul WY 3ae & Haftd [9gH Hiddr &
Ry HiAdI, I & dal I 3R YheU- & G Heh Ul bl YUY UR
Dl BRAT S|
2. - UHTE & RIgid |, SfUiq UTidhdi 3R G2 & o1 Yoo bl 34 GqH/STD
a1 g1 g1 AR T, ST I UTdddl SR Taid TN 9e= & «id |
3.Wéw$ﬁwﬁ$wﬂﬁ$aﬁﬁ,ﬁwﬁ%ﬁ?ﬁaﬁ%ﬁwﬁw
Yed gl gl g
4. TaRgd 2rea] @ HRMRYT B dTdd A Tgi ddb b ZRIT T 1 Ts UINT Y g8 HIST
4T U 3{dY T Ol 31afe] ¥ Hged ol U U Se1-3(cT1 gId B |
Options :
93p806630425. 1
93806630426. 2

93806630427. 3
93806630428. 4

Question Number : 83 Question Id : 9380667816 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following characterizes ‘syntagmatic axis of language’?

1. The placing of words together in a sentence.
2. The selection of certain words out of sets of possible words.
3. Language as it exists at any moment of time.
4. Language evolved through time.
Options :
93806630429. 1
93806630430. 2
93806630431. 3
93806630432. 4



Question Number : 83 Question Id : 9380667816 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad d O oiur <y o f[dahards 4L ol fAEid oedi g2

1. U5 919 H el &l Teb 1Y TG
2. YUIfdd egi & Y=g Y Hiduy Usal &1 94
3. gHY/BTA & Ut &ur H faeHH 1IN
4. GHY/DTA & I1Y [dBRd Hsn
Options :
93806630429. 1
93806630430. 2
93806630431. 3
93806630432. 4

Question Number : 84 Question Id : 9380667817 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Waltar Benjamin, the history of great works of art tells us.

1. the layered history of the poem's genesis and at the same time across countries, cultural,
periods, and contexts, ultimately across individual sensibilities.
2. about their antecedents, their realisation in the age of artist, their potentially eternal afterlife
in succeeding generations.
3. the importance of the relation of the poem to other poem by other authors... the conception
of poetry as a living whole of all the poetry that has ever been written.
4. a range of functions, from high creativity to virtually secretarial transference, to enlist in the
translator's army.
Options :
93806630433. 1
93806630434. 2
93806630435. 3
93806630436. 4



Question Number : 84 Question Id : 9380667817 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dleex I & YR, dell b HgH divdl ol 3idgi g4 ddidl g fb

1. HIddl g4 BT W Sfagra aur a1y g <2il, Wpiaal, rafeal ik deuf, sida:
HIRTT Y13l & UR ¥Rd sidgr™
2. 3] GddI3fl, PR & I H I MHUITIHRON T I<d=dal Uifedl T 31
YHTIdgUl 2MYd gy
3. MG TGD| B 3 Hiddl Y Hiddl D Y DI Tl TS dob [eRgd THE BT Dl
Siidd Quidl & 0 § ST DI Ghed-l
4. 3AIGD| & & U Yaldg 8H & oY, 3= YorTaTdhdl ¥ a9&d: iddrerd il ds,
Uh Tl bl U YRaell
Options :
93806630433. 1
93806630434. 2
93806630435. 3
93806630436. 4

Question Number : 85 Question Id : 9380667818 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to John Dryden, Metaphrase means

1. translation with latitude, the Ciceronian 'sense-for sense' view of translation
2. turning an author's word by word and line by line, from one language to another
3. where the translator can abandon the text of the original as he sees fit
4. that the style and manner of writing should be of the same character with that of the original
Options :
93806630437. 1
93806630438. 2
93806630439. 3
93806630440. 4



Question Number : 85 Question Id : 9380667818 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sil 9IS & HUR Helthol &l 314 g

1. HTGATERT TG, RRIFRE 3Ha1e &I <HId-& [AU-HIa: ef¥dbiu

2. T T Y O3] U1 Tl g ol UG R: 3R Ufckd IR 3{dIg H-l

3. 9igi eIdIGd FYfIddl bl €PId ad gU Hd 9y & 8l il &l 8IS Uhdl §
4. oG- &l QAell 3R Afd, Yo 9y & guH ugpld &1 ¢ gl =1fige

Options :

93806630437. 1
93806630438. 2
93806630439. 3
93806630440. 4

Question Number : 86 Question Id : 9380667819 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order of their publication:

A. The Principles of Translation

B. Deconstruction and Translation

C. The Science of Translation

D. Translation Theory : A Comprehensive Bibliography

E. Translation as a Purposeful Activity : Functionalist Approaches Explained

Choose the correct answer from the options given below:

Options :

93806630441. 1
93806630442. 2
93806630443. 3
93806630444. 4



Question Number : 86 Question Id : 9380667819 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FEfIRId & 3T UHIRH & HH H HaRRUd B

A. I [IE1Igeq 3 2iaei=rT

B. [SH&IRIT US CIgei<i

C. e G5 i cracir

D. cicii @R T pblElehad fHisfagiars]

E. CINci< UG U GRGSGcf Ulqelddl: GraRilene Ul Uadtls
I feu T fam el o Ugt SR I

1.B,C,A,E,D

el ?

®

-E-UJM

¥ i)
LA,
.D

»

>0
O g,
W
ysli@vs!

-

Options :

93806630441. 1
93806630442. 2
93806630443. 3
93806630444. 4

Question Number : 87 Question Id : 9380667820 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in their order of importance as given by Etienne Dolet:

A. The translator should use forms of speech in common use.

B. The translator should have a perfect knowledge of both SL and TL.

C. The translator should choose and order words appropriately to produce the correct tone.

D. The translator should avoid word - for - word renderings.

E. The translator must fully understand the sense and meaning of the original author, although
he is at liberty to clarify obscurities.

Choose the correct answer from the options given below:

I8, Ik O B

2.D.ABEC

L. EBD.AE

4. A,D,B,E.C
Options :

93806630445. 1
93806630446. 2
93806630447. 3
93806630448. 4



Question Number : 87 Question Id : 9380667820 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHfIRad &1 UfeUd Sicie gRI Uad Hedl & HH H oJaiyd &s:

A. 3AIGH] DI FHRI TR § 3{fifefdd & URSUT &1 SUINT BT 918U

B. 3{dIGd & WdId HIHT (SL) 3R dfedqd TN (TL) SHI &1 9Uf I SHT 91fgu|

C. 3AJAGD DI YU A U 3d1e Hid Idled B & U Iferd e W Wsal Bl 994
DI 13U 3R 3¢ hHds DAl dIigU]|

D. 3JdIGH| Bl Wea-ax-Teq 3dIG 4 I dIigU|

E. 3dlcdh &l Jd oD DI HIG-T 3R H2T DI Yuiddr GugH1 91ige, gidlife 39 3Ry
il &l WP S B WdAdl Bldl 8|

AId feu e fadhed! & Tl 3R g4

-

R uRe

.

E

-

B =
> o w
oWpU
WO wm
AN HE

»

Options :

93806630445. 1
93806630446. 2
93806630447. 3
93806630448. 4

Question Number : 88 Question Id : 9380667821 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following are true about Translation studies?

A. “On linguistic, Aspects of Translation” is a famous article by Roman Jakobson.

B. Interlingual translation is also known as translation proper.

C. Dynamic equivalence is not based on the principle of equivalent effect.

D. Eugene Nida distinguishes two types of equivalence: Formal and Dynamic

E. Inter-semiotic translation is not an interpretation of verbal signs by means of signs of
nonverbal sign systems.

Choose the correct answer from the options given below:

1. C, D and E Only
2. A, C and E Only
3.B, D and E Only
4. A, B and D Only

Options :

93806630449. 1
93806630450. 2
93806630451. 3
93806630452. 4



Question Number : 88 Question Id : 9380667821 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3(dIG 3y & IR H Fgfafad A s argd g2

A. <31 g Sfeiaey b SRR 09 Shadd S Uh UG od g |
B. SITRUMNR 3dIG & 3dIg Hbd (UWR) & U T i SHI Sd1 5
C. TRt ST, W THTd & R fd TR S1iRd el 3|
D. Yol (ST &1 YR $l qgdeddi H fave Hdl § - suiiRa iR 7faeiid|
E. 3R 341G, TR fsad Hdbd YUNTerdi & Hdval o 31 gRT Wfsad Habcll B
YR =151 3|
Id feu 7Y faded! & Tgt SR -

. HIdC, D3R E
2. HAd A, C AR E
3. $9d B, D AR E
4. Had A, B3ARD

Options :

93806630449. 1
93806630450. 2
93806630451. 3
93806630452. 4

Question Number : 89 Question Id : 9380667822 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Julia Kristeva's notion of intertextuality?

A. Text according to a different set of systems and the idea of the one ‘correct’ reading is
dissolved.

B. One of the results of the translation is that the political line of the play is completely
changed.

. That sees all texts linked to all other texts.

. No text can ever be completely free of these texts that precede and surround it.

. Where the reader discovers elements not basic to the genesis of the text and uses the text for
his own purposes.

ol

Choose the correct answer from the options given below:

1. Aand D Only
2.B and D Only
3. Cand D Only
4. D and E Only

Options :

93806630453. 1
93806630454. 2
93806630455. 3
93806630456. 4



Question Number : 89 Question Id : 9380667822 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sfferan foheddl & JRUTSTAA & HId & IR H Y B I g2

A.W%?WWWQFWWWW‘W@’WWWWI

fqueiia gl

B. 3{dIg &1 Udh URUME T35 g fdh ATedh &l oiHifde fHrg@an guidar uRafdd g1

C. Sl 3= gl ¢Re 9§ 93 Ut TqRe &1 3fddidh-] Sl g

D. ®lg i ¢Re 3T dadi ce 3R 30 Y-UIH/ART: TRe & TGl I Yuiadl Jad
EREEEETI

E. Sigl Ulddh ¢ b 3gHd & UYRYd dedl U R dedl BT Ul Il g adl 37U Tl
CHE BT ST PR 5|

|.Hdd A 3R D
2. Hadd B AR D
3. hdd c AR D
4. Had D 3R E
Options :
93806630453. 1
93806630454. 2
93806630455. 3
93806630456. 4




Question Number : 90 Question Id : 9380667823 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I (Term)

LIST-II (Meaning)

Where there is equivalence of the

A.|Linguistic equivalence I. |elements of a paradigmatic expressive

axes.
: . i Where there 1s equivalence of the

B.|Paradigmatic equivalence IL : HEEY

syntagmatic structuring of a text.
. i Where there is homogeneity on the
C. | Stylistic equivalence O B
y q linguistic level of both SL and TL texts.

Where there is functional equivalence of

D.| Textual equivalence IV. |elements in both original and translation

alming at an expressive identify.

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-IIL, B-1, C-IV, D-II
3. A-IL B-1, C-I1I1, D-IV
4. A-1, B-11, C-IV, D-III

Options :

93806630457. 1

93806630458. 2

93806630459. 3

93806630460. 4




Question Number : 90 Question Id : 9380667823 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

a1 ﬁjuﬁﬂ
()
WW@@B&WW%M
A. [ YTTIaRITHT THgTd L G O
gl bl dRe Bl [d-IRIHHTHS
B. | TR SH S U R 3 wge i §
STel Tdid HI9T 311 1&g HINT, GIHl &
C. | el gt U2 & W TR R g B @
oigl Tl siftreafaayul ug<H W)
D. | FYTad FHgeddl IV, | qIfedd Je SIR 3fgdre, Gl H dedl ®
U riEs e Bidl o
i faU 7T fadhetl # T Ul IR BT 994 Difole ;

1. A-IV, B-I, C-II, D-III
2. A-III, B-1, C-1V, D-II
3. Al B-I, C-IIL, D-IV
4. A-1, B-11, C-IV, D-III

Options :

93806630457. 1
93806630458. 2
93806630459. 3
93806630460. 4

Question Number : 91 Question Id : 9380667824 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The famous allegory of the cave is associated with which philosopher -

1. Aristotle

2. Plato

3. Longinus

4. Socrates
Options :
93806630461. 1
93806630462. 2
93806630463. 3
93806630464. 4




Question Number : 91 Question Id : 9380667824 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

6] &1 Ul e¥id (b4 arRiiFe & Uy d4s g2

1. 3RE
2. &l

3. A9
4. gHId

Options :

93806630461. 1
93806630462. 2
93806630463. 3
93806630464. 4

Question Number : 92 Question Id : 9380667825 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said that kavya promotes purusarthas (four ends of life) - dharma, artha, kama, moksha also
kirti and priti -

1. Bhamaha
2. Vamana
3. Bharata
4. Mammata

Options :

93806630465. 1
93806630466. 2
93806630467. 3
93806630468. 4

Question Number : 92 Question Id : 9380667825 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g Dl Ul b B g (Sl & IR ded) - 4H, 312, B 3{R Higf, T Bifd 3R Wifd
@I dgIal ¢dl g2

1. HIHg
2. d[HA
3. Hd
4. HHC
Options :
93806630465. 1
93806630466. 2
93806630467. 3
93806630468. 4



Question Number : 93 Question Id : 9380667826 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which text mentions the concept of Kavyapurusa through a discourse between Brhaspati and his
disciples:

. Kavyalankarasutra
2. Natyvasastra

3. Kavyamimamsa

4. Dhvanyvaloka

Options :

93806630469. 1
93806630470. 2
93806630471. 3
93806630472. 4

Question Number : 93 Question Id : 9380667826 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fb Coe T ggUld SR 34D Rl & ofid fau=l & d1ed 9 Sroguey $i Hbod T &l
Jooid g3 g2

1. PIATPRGA
2. TICHIART

3. pIGHIAET
4. SGIGIClip

Options :

93806630469. 1
93806630470. 2
93806630471. 3
93806630472. 4

Question Number : 94 Question Id : 9380667827 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said that Kuntaka's theory of Vakrokti is more or less modelled upon Anandavardhana's
theory of dhvani?

1. Rudrata

2. Mammata

3. Mahimabhatta
4, Vamana

Options :

93806630473. 1
93806630474. 2
93806630475. 3
93806630476. 4



Question Number : 94 Question Id : 9380667827 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fbu Dl Ul fb ded & doblfd [¥gid HId AR W 3fHeddd & i Rigid ar sienid go

I. +gc
2. HHC

3. HigAHCC

4. d[H4
Options :
93806630473. 1
93806630474. 2
93806630475. 3
93806630476. 4

Question Number : 95 Question Id : 9380667828 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which book of Plato, Socrates as a character defines a poet as *“a light and winged thing, and
holy and never able to compose until he has become inspired and is beside himself and reason is
no longer in him.”

1. Republic

2. lon

3. Apology

4. Symposium
Options :
93806630477. 1
93806630478. 2
93806630479. 3
93806630480. 4

Question Number : 95 Question Id : 9380667828 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

wiel i b U T Udh U & U H YD1 [hdl Dhid DI “Uch YD Yol 3R Ura i,
Y1 URd giH UR g1 T 63 1 g& 3R WY & AR [d9y] U T51 ddl gl Ud dRU|
34D IR faemH= 9 811 & U 1 URYINT HRT 3|

1. Nl
2. 23

3. 3glciiail
4. [ymgiforga

Options :

93806630477. 1
93806630478. 2
93806630479. 3
93806630480. 4




Question Number : 96 Question Id : 9380667829 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in a chronological order:

A. Bhamaha
B. Abhinavagupta
C. Anandavardhana

D. Hemachandra
E. Dandina

Choose the correct answer from the options given below:

LAE.C,B.D

2.C,B.AD,E

L.EB D CA

4. B.58,B. €. F
Options :

93806630481. 1
93806630482. 2
93806630483. 3
93806630484. 4

Question Number : 96 Question Id : 9380667829 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRed &1 HIIHHIR TafRyd &3 |

A. HIHG
B. U
C. 3Headq
D. SHdg
E. GUSI

13 fow T et & 98 SR

-

SR=R- e
nNow
gl s [l w

P i
mmo e

W wm

Options :

93806630481. 1
93806630482. 2
93806630483. 3
93806630484. 4



Question Number : 97 Question Id : 9380667830 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Cicero in The Rhetorica organised the five-part system which were central to the Roman tradition

of rhetoric as:

A. Arrangement is the ordering of the matter.

B. Style is the adaptation of words and sentences to the matter invented.

C. Delivery refers to the regulation of voice, countenance, and gesture.

D. Memory is the firm retention in the mind of the content.

E. Invention is the devising of matter which will make a given case convincing.

Choose the correct answer from the options given below:

.E,A,B,D,C
2.E,B,C,A,D
3.A,E,B,C.D
4.A,B,E,D,C

Options :

93806630485. 1
93806630486. 2
93806630487. 3
93806630488. 4

Question Number : 97 Question Id : 9380667830 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a}’i%???ﬂﬁmﬂwwém @1 AT TR H higd Uid-HId1 YolTell &l FEHIR diid

A. HaR], 9%j/e1d 1 hHidh ¢ |

B. Udl, 34itd a¥/gerd & Usal 3R 91T BT BN/ U SHI g |

c. feciiadi/uerant e, gareid 3R i &1 a3

D. W, Af&rsh o G54 &1 619 YR g

E. Ao, 3%/uerd &l Ha=/HHd &1 8 Sl ! Ued 9d &l gie RS -1e|

1.E;ALB,. D, C
2EB CAD
3.AEBERED
4. A.B,E,D,C

Options :

93806630485. 1
93806630486. 2
93806630487. 3
93806630488. 4



Question Number : 98 Question Id : 9380667831 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements on the Islamic philosopher Ibn Rushd from the following.

A. According to him, Literature was a form rather than as having any specific content.

B. His work titled Commentary on the Poetics of Aristotle was translated into Latin in 1256.
C. The main corpus of Aristotle's texts was transmitted to Europe through him.

D. He did not reconcile philosophy and religion, reason and revelation.

E. Regarding poetic imitation, he rejects the idea of realism unlike Aristotle.

Choose the correct answer from the options given below:

1. A, D and E Only
2. B, C and E Only
3. A,Band C Only
4. B, C and D Only
Options :
93806630489. 1
93806630490. 2
93806630491. 3
93806630492. 4

Question Number : 98 Question Id : 9380667831 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afaRgd o U g gRifFe 39336 & IR © G HYH| B UgdH Hi:

A. 3d 3R, Hifgd fbdt fafry siddyg &1 99U Ueh URFU g |

B. D1 BIL-Cd] 31 I3 GIZ10aT 3t 3R NG aTell Hid 1256 T dfc T edle Bl 7Tg
gt

C. 3RE b U] D1 YT Gl SIch H199H U R1Y Ugdi 4|

D. 351 GRFRIRE 3R 44, ahUNT 3R Ydsed &l YH-ag ol (a1 AT|

E. DITd a0 & a¢ T 98 3R] & JY1ddie & [daR &l bR HRd ¢ |

I feu e fddhedl | wgl 3R g4

1.Pad A, D IR E
2. $Ad B, C 3R E
3. $ad A, B3R C
4. Hdd B, C 3R D

Options :

93806630489. 1
93806630490. 2
93806630491. 3
93806630492. 4




Question Number : 99 Question Id : 9380667832 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements on Kaires from the following-

A. It represents ‘sense of the appropriate’ as stated by Bacchylides.
B. It has an important role in classical aesthetics.

C. It is fundamentally a religious concept, for the poet.

D. It does not govern genres.

E. It is a limited power making any act or creation “most fair”.

Choose the correct answer from the options given below:

1. A, B and E Only
2. A, B and C Only
3.B, D and E Only
4. B, C and D Only
Options :
93806630493. 1
93806630494. 2
93806630495. 3
93806630496. 4

Question Number : 99 Question Id : 9380667832 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AfAfeRad 3 U oY & IR H 9 HYHI BT 994 B |

A. I8 Al gR1 g1 FGRId “aqgfd &l 419 & (A= Hdl g
B. 39| AR YU ¥ Hgaqul Y1 gl

C. Ug $f3 & fod geoid: U i Ydbeu1 g1

D. Tg fasmaff &t sifir=nfia 7 erar g

E. 48 [0l o 41 Yol ol 318 [y a4 ol iffid i g

i3 oy U et 98 SR

1.Hdd A, B3R E
2. Had A, B 3R C
3. $9d B, D 3R E
4. Hdd B, C 3R D
Options :
93806630493. 1
93806630494. 2
93806630495. 3
93806630496. 4




Question Number : 100 Question Id : 9380667833 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.| Abhinavagupta I. |Kavyadarsa
B.|Bhamaha II. | Rasagangadhara
C.|Dandina III. | Locana
D.|Panditaraja Jagannatha IV. | Kavvalankara

Choose the correct answer from the options given below:

1. A-II, B-III, C-I, D-IV
2. A-IIL B-1V, C-1. D-II
3. A-l, B-1I, C-III, D-1IV
4. A-IV, B-1, C-III, D-TI

Options :

93806630497. 1

93806630498. 2

93806630499. 3

93806630500. 4

Question Number : 100 Question Id : 9380667833 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

EL I
A. | SATHFETE I | @regeef
B.|YTHg IL. | ¥g7rey
C.|eud I1L. | &7
D. | GfSaRIS Sy V. | HIGIABN
+id faU 7T f[ddheyl # § Ul IR BT 99+ Hifolg ;

1. A-II, B-I11, C-I, D-IV
2. A-II1, B-1V, C-1, D-II
3. A-1, B-1I, C-I11, D-1IV
4. A-IV, B-1, C-III, D-TI

Options :

93806630497. 1

93806630498. 2

93806630499. 3

93806630500. 4




Question Number : 101 Question Id : 9380667834 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Pali epic Padyvachudamani was written around twelfth century by

1. Aniruddha

2. Medhanakara

3. Dharakirti

4. Buddhaghosha
Options :
93806630501. 1
93806630502. 2
93806630503. 3
93806630504. 4

Question Number : 101 Question Id : 9380667834 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gifel TgThIed GerdSTHiurdigRd] Qdlscl & T fdhdds gRT fern 7 41

1. 3G
2. HYHHR
3. YRIHId

4. 959y

Options :

93806630501. 1
93806630502. 2
93806630503. 3
93806630504. 4

Question Number : 102 Question Id : 9380667835 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who described Indian literature with a metaphor of human figure : where main body consists of
sound and sense, whose face is Sanskrit, arms Prakrit, thighs Apabhransa, feet Paisachi etc:

1. Bhattanavaka
2. Bharata

3. Rajasekhara

4. Abhinavagupta

Options :

93806630505. 1
93806630506. 2
93806630507. 3
93806630508. 4



Question Number : 102 Question Id : 9380667835 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fh g YR Wifgd &1 AHd TR & U & Areny Y 9iofd fhar or: Sigi g IRR @l

1. Yo TaD
2. WRd

3. YOI
4. AT

Options :

93806630505. 1
93806630506. 2
93806630507. 3
93806630508. 4

Question Number : 103 Question Id : 9380667836 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term ‘techniques of ecstasy” has been coined by

1. Mircea Eliade
2. A. K. Ramanujan
3. Matthew Arnold
4. T. S. Eliot
Options :
93806630509. 1
93806630510. 2
93806630511. 3
93806630512. 4

Question Number : 103 Question Id : 9380667836 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Yeg “GNIHIG DI -l fhdd gRI Tl 71T Yl

1. frRfam ufergs

2. U, WS
3. 0y 3Hies

4. <109, gfeiue

Options :

93806630509. 1
93806630510. 2
93806630511. 3
93806630512. 4




Question Number : 104 Question Id : 9380667837 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which is not the pada or quadrant of Patanjali Yogasutra:

1. Samadhi Pada
2. Sadanapada
3. Vibhirtipada
4. Vishakhapada
Options :
93806630513. 1
93806630514. 2
93806630515. 3
93806630516. 4

Question Number : 104 Question Id : 9380667837 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI 91 Udsife GG &1 Ug 3idl dqdds g1 82

L. gq1fe ug
2. 9IYT Ug
3. fqufifdug
4. faeRaue

Options :

93806630513. 1
93806630514. 2
93806630515. 3
93806630516. 4

Question Number : 105 Question Id : 9380667838 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a part of Tripitaka or the "Threefold Basket"

1. Vinaya Pitaka
2. Sutta Pitaka
3. Abhidhamma Pitaka
4. Jataka Pitaka
Options :
93806630517. 1
93806630518. 2
93806630519. 3
93806630520. 4



Question Number : 105 Question Id : 9380667838 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHidRad H§ U S AiUed <dibics dRde” &1 3T ol o2

1. faafues

2. 9d f{0ch

3. Uy fUcdh
4. Slldd fUedh

Options :

93806630517. 1
93806630518. 2
93806630519. 3
93806630520. 4

Question Number : 106 Question Id : 9380667839 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-IT
A.|Saifuddin Tarabali L. |Sam nama
B.|Sanaullah Kreri IL. | Sahr-i-hilal
C.|Lachman Raina Bulbul 1. | Anwat-i-Akhrat
D.|Wahab Paray IV. | Bebij Nama

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-IL B-III, C-1, D-IV
3. A-II B-1V, C-11, D-1
4. A-111, B-II, C-IV, D-1

Options :

93806630521. 1

93806630522. 2

93806630523. 3

93806630524. 4




Question Number : 106 Question Id : 9380667839 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

-1 Heu
A.| ¥ qdH dRIEe L | G T1HT
B. | I3 eE B3 IL. | §gv-U-focire
C.| T H 31 gadd 1L | 375 T 3RGRIT
D.|dgld Y IV. | 9577 Frd7
fid feu e fadedl & T Hgl STk &1 9 HiforT .

1. A-I, B-II, C-III, D-IV
2. A-I1, B-1II, C-1, D-IV
3. AL B-1V, C-I1, D-1
4. A-III, B-II, C-IV, D-1

Options :

93806630521. 1

93806630522. 2

93806630523. 3

93806630524. 4

Question Number : 107 Question Id : 9380667840 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following saints in chronological order.
A. Sambandhar
B. Puneetavati

C. Appar
D. Sundarar

Choose the correct answer from the options given below:

1.4 B, . D

2.B,CAD

3.BA.C,D

4. A.C,B,D
Options :

93806630525. 1
93806630526. 2
93806630527. 3
93806630528. 4



Question Number : 107 Question Id : 9380667840 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Faffad Ydl ! SIabdaR Hdf@id H1|

A JHEYR

B. GHidddt

C. JUR
D. YR

i3 foy U et 4 98 SR

1.LA.B,C.D

2B, C.A D

3.BACD

4. A.C,B,D
Options :

93806630525. 1
93806630526. 2
93806630527. 3
93806630528. 4

Question Number : 108 Question Id : 9380667841 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements on Apabhransa from the following.

A. Primarily, it meant a sub-standard or a corrupt speech.

B. Dandin described it as a dialect of the Abhiras (the cow herds) raised to the literary status.
C. It was recognized as a literary language by scholars like Anandavardhana.

D. Modern linguists have not identified any phonological and morphological features in it.
E. Apabhransa was not prevalent in the whole of India.

Choose the correct answer from the options given below:

1. B, C and E Only
2. A, D and E Only
3.B, C and D Only
4. A, B and C Only
Options :
93806630529. 1
93806630530. 2
93806630531. 3
93806630532. 4



Question Number : 108 Question Id : 9380667841 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfRId # U Uy & R § 9 HYHl &l UgdH S|

A RIS T H, 3951 31 IUAMD a1 Yy dicil Ul

B.GUSI A 34 TR FUIcIs ) 31 dich Sd1d1 g, o Tiiefds® &l UaH fdar |

C. 3FiGas oY fagrl gR1 34 Wifgfdd YN &1 A=A &1 s g |

D. YD UNIAIND] 4 390 I3 G-aIdd 3R &4 [quHidS fa=ydid 4d1 ugar g1
E. 304 990 YRd ¥ uferd =g Al

|.Hdd B, C 3R E
2. HIAd A, D 3R E
3. Hdd B, C 3ARD
4. HAAA, B3R C
Options :
93806630529. 1
93806630530. 2
93806630531. 3
93806630532. 4

Question Number : 109 Question Id : 9380667842 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements on Perunkkatai:

. It is an epic 1n five cantos.

. It was written at a time when the Sanskrit epic had become a part of Tamil cultural heritage.

. The Sanskrit version was prepared by Kon kuvelir.

. It was written by a Jain Monk who collected his materials probably from a Sanskrit version
of the BrihatKatha.

E. The Tamil version is ascribed to a Ganga King named Durvinita.

OnNnwe

Choose the correct answer from the options given below:

1. A, B and D Only
2. C,D and E Only
3. A, C and E Only
4. B, C and D Only

Options :

93806630533. 1
93806630534. 2
93806630535. 3
93806630536. 4



Question Number : 109 Question Id : 9380667842 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ddherg et Y Syl Bl UgdH 3
A. T8 Ufd GUS| T HgTh1e] 5|

B. ¥g 39 9y ferdi 715, 41 5id ¥¥hd HgidhTod dite ikl faRId BT YT &+ 7147 4|
C. Yhd YU HI- HafeR §R daR ha1 T/ 1|
D. 4g Udb oI 1Y gRI ferd] 713 i, o1 saf wrll dydadn ggah 4 dehd Teahur 9

UguT i i

E. dT0el AXHRUT b1 4T Ueh T ST gald-id bl (a1 Sl g |

i3 Fow U et 3 wE SR

1.dd A, B 3R D
2. $ad C, D3R E
3. HAd A, C 3R E
4. ®Had B, C 3R D

Options :

93806630533. 1
93806630534. 2
93806630535. 3
93806630536. 4

Question Number : 110 Question Id : 9380667843 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-IT
A.|Sri Harsha I. | Mudrarakshasa
B.|Bhavabhuti I1. | Ratnavali
C.|Vishakhadatta I11. | Malati Madhava
D.|Bhattanarayana IV. | Venisamhara

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-I
2. AL, B-II1, C-1, D-TV
3. AT B-1V, C-11, D-1
4. A-1, B-11, C-1II, D-IV

Options :

93806630537. 1

93806630538. 2

93806630539. 3

93806630540. 4




Question Number : 110 Question Id : 9380667843 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

W1 I
A|digy L | geriedg
B. | vayfd IL. | ¢ergcd]
C.|faemaesd 0L | H7c7d] Jre/d
D. | AR Iv. | U We R
- fau e fadetl # 9 Tt SR D1 99 BIfST -

1. A-IV, B-11I, C-II, D-I
2. A-I1, B-1II, C-1, D-IV
3. AL B-1V, C-11, D-1
4. A-1, B-11, C-1II, D-IV

Options :

93806630537. 1

93806630538. 2

93806630539. 3

93806630540. 4

Question Number : 111 Question Id : 9380667844 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A. K. Ramanujan calls U. R. Ananthamurthy's Samskara:

1. The first Indian novel in English
2. An allegory rich in realistic details
3. A historical narrative
4. A critique against superstition
Options :
93806630541. 1
93806630542. 2
93806630543. 3
93806630544. 4



Question Number : 111 Question Id : 9380667844 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Udb. IS, Y 3R, SHddfd & G¥ddh Ge&pR &l Rl dgd g:

1. 3ESH H UYH YR 30
2. g4It faarur 9 Ui U 3FAifa
3. U Ui eI

4. HIYN & [dEg Udh ATl

Options :

93806630541. 1
93806630542. 2
93806630543. 3
93806630544. 4

Question Number : 112 Question Id : 9380667845 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The possible reason suggested by Meenakshi Mukherjee for women being more poets than

novelists in 19 ¢ India is:

1. The nature of the public sphere and the state of publishing
2. The Vernacular Press Act 1872
3. Macaulay's 1835 minutes
4. Women were banned legally for reading novels in the year 1859.
Options :
93806630545. 1
93806630546, 2
93806630547. 3
93806630548, 4

Question Number : 112 Question Id : 9380667845 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1941 TrdTsc] & HRA H Afgersll & IUANGR gl &I SollU HaidEl 3 gi+ & die dielt
ol gRT G/l 41 HRUT 1 g2

1. i TRl &7 B udhid 3R Ubr=H of fyfd
2. FAIRIeR U9 U 1872
3. AT

: 1835
4. 9Y 1850 T Gigcliafl &b IUUR Ug UR HI-1 Ul < fear
Options :
93806630545. 1
93806630546. 2
93806630547. 3
93806630548. 4



Question Number : 113 Question Id : 9380667846 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Shakespeare is regarded as supreme in English Literature and is described as the Kalidasa of
English...... Kalidasa was a poet of India and Shakespeare of Europe. Shakespeare lived 1n the
time of Elizabeth. i.e. in the fifteenth century of Christ and Kalidasa at least one thousand years

before him.”
In this sentence, the author compares Shakespeare with Kalidasa to show.

1. a national response against colonial hegemony
2. the untranslatability of Shakespeare into Indian languages
3. atemporal nature of Shakespeare's works
4. the uniform nature of literature
Options :
93806630549. 1
93806630550. 2
93806630551. 3
93806630552. 4

Question Number : 113 Question Id : 9380667846 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“QFYUR I Sl Hifiged T Yl THT STl § U7 iUl DT DIl eIl ........
DI YR & $id ¥ 3R YR WY & did A | YFUER Ufereliey & JHabIe
31Ul 391 Dl Ugdl Fdlec] T, 3R DIfeiaN 34U HH-U-HH Udb golR 9Y Yd cla $ g
U1 2 qr | H ol 1 G & [T SHifeiard U UUER &1 Ja- HRal g

L. 3NUHERIS THd & fdeg T I UG
2. YRATT HTS13Hf T YFHTR ®f TR

3. AR o1 il & fereurdl usfd

4. e Bl UH=U UHfd

Options :

93806630549. 1
93806630550. 2
93806630551. 3
93806630552. 4




Question Number : 114 Question Id : 9380667847 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who of the following poets is said to be the first major writer to possess an extensive first - hand
knowledge of India :

1. John Donne

2. S.T. Coleridge
3. Lord Byron

4. Rudyard Kipling

Options :

93806630553. 1
93806630554. 2
93806630555. 3
93806630556. 4

Question Number : 114 Question Id : 9380667847 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafafad ¥ ¥ oy ®fd &I YRd o1 [d%&7d Ugal 14 G- a1l U4H UG ey JHT STl 82

1. S 81

2. TH.2L. BIARS

3. dls a4

4. F3qrs fbulem
Options :
93806630553. 1
93806630554. 2
93806630555. 3
93806630556. 4

Question Number : 115 Question Id : 9380667848 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Farewell to India (1931) was written by:

1. E. M. Forster
2. Edward Thompson
3. Neerad C. Chaudhary
4. Ernest Hemingway
Options :
93806630557. 1
93806630558. 2
93806630559. 3
93806630560. 4



Question Number : 115 Question Id : 9380667848 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T BHaRaT ¢ 3391(1931) fbads g fordi 18 2t

1. 300 BRER

2. USds 4y
3. HRe Ot diet

4. 3% gfed

Options :

93806630557. 1
93806630558. 2
93806630559. 3
93806630560. 4

Question Number : 116 Question Id : 9380667849 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following works in their chronological order of publication in 19 century.

A. Chandrakanta

B. Rani Ketaki Ki Kahani
C. Pareeksha Guru

D. Kapal Kundala

E. Indulekha

Choose the correct answer from the options given below:

1.B,D,C.E, A

2.B,EACD

38 BoC, B T

4. DA B, CE
Options :

93806630561. 1
93806630562. 2
93806630563. 3
93806630564. 4



Question Number : 116 Question Id : 9380667849 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafciiad edsl ol 19d] 2disd] T 3d USRI & DIADHFIR HdfRId &1

A. dgPIdr

B. ¥l ddd] &l BeTHl
C. WRIET TR

D. &I ST

E. Sgorar

1.B,D,C,E, A
2B EACD
3AECRID
4.D,A,B,C,E

-

Options :

93806630561. 1
93806630562. 2
93806630563. 3
93806630564. 4

Question Number : 117 Question Id : 9380667850 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Rajamohan's Wife.

A. Makarand Paranjape calls it the first English novel in whole Asia.

B. The novel ends in a happy ending for Matangini.

C. The novel can be read as a national allegory of modern India.

D. The novel brings out the idea of India based on Hindu tradition.

E. The novel rejects any idea of creating a new society from the remnants of a decaying older
order.

Choose the correct answer from the options given below:

1. B, D and E Only
2. A, C and E Only
3. A, Band C Only
4. C,D and E Only

Options :

93806630565. 1
93806630566. 2
93806630567. 3
93806630568. 4



Question Number : 117 Question Id : 9380667850 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT a5 & dR H FgiiRad § U &Y Id -

A. Adie RISU 39 Hyul ulREn & uyd s 30-rd & §31 6d g

B. I A1d- & foll gue 3id & 91y 9arwd gidi g

C. ST B YD HRA BT AT Ui ST P 0 H UgT oIl Hbell |

D. SUUTY fg=g TRURT W 31yiRd HRd & faaR &l Iguifed edr g

E. ST RO IR a1 & YIaRIST I et 7 TS & Gor BT AR
3R BT g

i3 fow e et 3 wE SR

1. $dd B, D3R E
2. HAd A, C AR E
3. Had A, B 3R C
4. ®Had C,DIARE

Options :

93806630565. 1
93806630566. 2
93806630567. 3
93806630568. 4




Question Number : 118 Question Id : 9380667851 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Vinay Dharwadkar while talking about modernism and its influence on Indian poetry observes.

A. Thematically it is visible in the depiction of disintegration of traditional communities and
cultural institutions.

B. French modernism also influenced Indian poets like Buddhadev Bose and Nabaneeta Dev
Sen.

C. Free verse as a poetic form did not appeal to Indian poets.

D. Love-hate relationship with modernity, cosmopolitanism and zeal for revelations are the
French influence.

E. The modernist Indian poets have used patriotic themes and issues of nationalism in their
works.

Choose the correct answer from the options given below:

1. B, C and D Only
2. A, B and D Only
3.C,D and E Only
4. B, D and E Only
Options :
93806630569. 1
93806630570. 2
93806630571. 3
93806630572. 4



Question Number : 118 Question Id : 9380667851 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aag%ﬁéﬁnaﬂ?m‘cﬂﬂdﬁ&dm?w&o UYId & 9R H d1d ded gU fd-g YRarsH fewult
b

A. [AYTdR I8 QRWRATd Y9/l 3R Uipidd Ml & f[d9ed & [Aqur i eyag g

B. Thd MYl 4 Ul ggcd 919 37R Ta-1d1 ad 9 S8 YR Hiadl B uuyiidd fdar
T |

C. BIAHSD UREU & =0 H Gk DI A YR Hiqdi &l UHifdd -1g1 far|

D. YD, ISRl & I1Y UH-YUT &1 YdY 3R Hifadl Bi fS=m1 thd UHd |

E. angﬁgﬁ YR Diqal = Aydrel gef 3R SrHidTaRe fawal i -l ol & wgdd
fHarg

1. $IAB, C 3R D
2. Hdd A, B3R D
3.5ad C, D3R E
4. $HddB.D 3R E
Options :
93806630569. 1
93806630570. 2
93806630571. 3
93806630572. 4

Question Number : 119 Question Id : 9380667852 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LISTI LIST-II
A.[Bhasa L. | Mrichchhakatika
B.|Shudraka I1. | Prabodhacandrodayva
C.|Krsnamisra I11. | Balaramayana
D.|Rajashekhara IV. | The Vision of Vasavadatta

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I
2. A-1V, B-1, C-1I, D-III
3. A-IL, B-II1, C-1, D-TV
4. A-1, B-1V, C-111, D-1I

Options :

93806630573. 1

93806630574. 2

93806630575. 3

93806630576. 4



Question Number : 119 Question Id : 9380667852 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl -ax &l e i

-1 -0
A.lyg L | gedichy
B.|35d 1. | garegicy
C.| pwIHy 1L | STCRTHTI]
D. IR V.| fa 19577 3T qqaa
A QU Y fadbetl # 0 Ut SR &1 997 Bifo -

1. A-IV, B-1I, C-III, D-1I
2. A-IV, B-1, C-I1, D-III
3. A-IL B-1II, C-1, D-IV
4. A1, B-IV, C-TI1, D-TI

Options :

93806630573. 1

93806630574. 2

93806630575. 3

93806630576. 4

Question Number : 120 Question Id : 9380667853 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT1

LIST-I LIST-IT
A.|King Lear and Indian Politics I. 11901
B.| Macbeth and the Ruin of Souls II. {1900
C.|Shakespeare through Eastern Eyes III. | 1902
D.|Hamlet and the Waste of Life IV.|1932

Choose the correct answer from the options given below:

1. A-II, B-1, C-IV, D-III
2. A-L, B-11, C-III, D-IV
3. A-IIL B-1, C-I1, D-IV
4. A-1, B-1V, C-III, D-1I

Options :

93806630577. 1

93806630578. 2

93806630579. 3

93806630580. 4




Question Number : 120 Question Id : 9380667853 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

-1 ELI
A.| &7 feraR U3 3189 gifcidiad I |1901
B.| Jqey U3 fa &5 3w dicy 1. | 1900
C.| SIIfOTR g gec 3igol I0I. 1902
D.| grcie US o a it cig® 1v.[ 1932
- fau e fadetl # 9 Tt SR D1 99 BIfST -

1. A-II, B-1, C-IV, D-III
2. A-1, B-1I, C-III, D-1IV
3. AL B-I, C-1I, D-IV
4. A-1, B-1IV, C-1I1, D-II

Options :

93806630577. 1

93806630578. 2

93806630579. 3

93806630580. 4

Question Number : 121 Question Id : 9380667854 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in their order of importance as given by Aristotle:

A. dianoia
B. ethe
C. mythos
D. lexis
E. opsis

Choose the correct answer from the options given below:

1.C,B,D.A.E

2.C,B.AE D

JLECABD

4. 8. C. B E.D
Options :

93806630581. 1
93806630582. 2
93806630583. 3
93806630584. 4



Question Number : 121 Question Id : 9380667854 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafciiad &1 3% gRI1Ued 3-d] Hgdl & 6 T HdRYd B |

A. 3l
B.5Y

c. fayr
D. cildy
E. ey

-

nOww
w > > O
o 09t

Fei it
> mon
bbbh

»

-

Options :

93806630581. 1
93806630582. 2
93806630583. 3
93806630584. 4

Question Number : 122 Question Id : 9380667855 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about Epics?

A. Aristotle ranks epic as the highest-form of literature.
B. Aeneid serves as the chief model for Paradise Lost.
C. Aeneid is a “primary epic.”

D. Hyperion is a fragmentary epic.

E. Paradise lost is a literary epic.

Choose the correct answer from the options given below:

1. A, B and C Only
2.B, C and D Only
3.C,D and E Only
4. B, D and E Only
Options :
93806630585. 1
93806630586. 2
93806630587. 3
93806630588. 4



Question Number : 122 Question Id : 9380667855 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfcRad § U SIHY HYd Heldhiadl & aN § I g2

A. 3RE] UGIHIH B Hiigd &1 Fdied U T 5|

B. UH2S, IRTSTZo clie & old I TS d @] YTl (U g |
C. U583 Ud “UIYHD Helhlod” g |

D. gIEUNGT U WS DA g |

E. IRISTSY &iRe U ifgfds HeldhTA

I.Hdd A, B3R C
2. HAd B, C ARD
3. Hhadd C, D 3IRE
4. $Had B, D3R E
Options :
93806630585. 1
93806630586. 2
93806630587. 3
93806630588. 4

Question Number : 123 Question Id : 9380667856 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tragic stories, according to Northrop Frye?

A. Tragic stories, when they apply to divine beings, may be called Dionysiac.

B. In tragic stories, the hero must be excluded from the society.

C. In tragic stories, the god is inferior to nature.

D. Tragic stories are the stories of dying gods.

E. God's death in tragic stories is associated with autumn or sunset which necessarily means
that he is a god of “Vegetation” or “Sunset”.

Choose the correct answer from the options given below:

1. B, C and E Only
2. A, B and D Only
3. A, C and E Only
4. C,D and E only

Options :

93806630589. 1
93806630590. 2
93806630591. 3
93806630592. 4



Question Number : 123 Question Id : 9380667856 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ARIT 1 & AR, FafeiRad & 9§ o191 gEe delHal & 9 § 9d g2
A. GG Il Bl §d ¢did Afdadl W {qugad [l §Idl g 1l 38 SIe MRS Hgl

IS

B. §W¢ Sl § A0 3=y g1 YA ¥ 3fudfoid fdbar S 9ifgu|

C. G Bgli-al d $4R, U W gIHaH gidl g
D. GG dolal, ARURITT S4R &1 del-ai ¢ |

E. GUC dgli-dl § WTaH &1 g Sl Udis 3Ydl YUikd Y SIS Siidl g ST ddd
=0 ¥ 37 B 98 “gfa 3YaT <A dISHR g

AId feu e fadhed! & Tl 3R g4

|. $Id B, C 3R E
2. Had A, B3R D
3. Had A, C3IRE
4.$9d C, D 3R E

Options :

93806630589. 1
93806630590. 2
93806630591. 3
93806630592. 4

Question Number : 124 Question Id : 9380667857 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LISTI (Type) LIST-II (Novels )
A.|Regional Novel 1. | The Executioner's Song
B.|Sociological Novel I1. | Love on the Dole
C.|Proletarian Novel II1. | The Grapes of Wrath
D.|Nonfiction Novel IV. | Tess of the D'urbervilles

Choose the correct answer from the options given below:

1. A-IIT, B-1, C-11, D-IV
2. A-IV, B-III, C-1I, D-1
3. A-IIL, B-11, C-1, D-IV
4. A-II, B-TII, C-IV, D-1

Options :

93806630593. 1

93806630594. 2

93806630595. 3

93806630596. 4




Question Number : 124 Question Id : 9380667857 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

-1 11
{FR) R
A.| &g 3ug 1. | I3 USliag=red TiiT
B. | GHISIRIRA 3T 1L | &79 3/ I3 ST
C. | GdgRI ST IIL | /3 997 31t 3y
D.|HUR ITUH IV.| 29 3% q S13RaRIger
-1 QU U f[adhedl & O U8l 3R &1 90+ HIfU

1. A-IIT, B-1, C-1I, D-1IV
2. A-1V, B-111, C-II, D-I
3. AL B-II, C-1, D-IV
4. A-II, B-1II, C-IV, D-1

Options :

93806630593. 1

93806630594. 2

93806630595. 3

93806630596. 4




Question Number : 125 Question Id : 9380667858 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I (Statement) LIST-II
% In epu-;!:1 Fiction must employ its utmost 1. | William Webbe
grace.
B. | Epic is “that princely part of poetry.” IL. | Sir Philip Sidney
Epic is “the best and most accomplished
2, TR N II1. | Soames and Dryden
D. Epic af_. the chief effort of human 1v. | Mulgrave
sense.

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-IIT, B-1V, C-II, D-1
3. AL B-1, C-11I, D-IV
4. A-1, B-III, C-1IV, D-I1

Options :

93806630597. 1
93806630598. 2
93806630599. 3
93806630600. 4




Question Number : 125 Question Id : 9380667858 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

S Few

AgIdIad H I &l 30 Ydi=d
A | Gz Frifor e aIfzT I |fafcras desl

B.|HgIHIH “dHiddl &I ISl HIT g 1» 1. | IR fthiery s+l

. mj~-ﬁma?rﬁgah?mw T

HRIhTH “HHd1g a1 & U5 ] —

- AR g |

i< 14U U [qd el § U Ul 3Tk &1 94 Dol -

1. A-1, B-II, C-IIL, D-IV
2. A-IIL B-1IV, C-I1, D-1
3. A-IIL B-1, C-1I1, D-1IV
4. A-1, B-III, C-1IV, D-1I

Options :

93806630597. 1

93806630598. 2

93806630599. 3

93806630600. 4

Question Number : 126 Question Id : 9380667859 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Those who study and promote World Literature have been called, “World Literaturists™ by:

1. Gayatri C. Spivak
2. Harish Trivedi
3. David Damrosch
4. Rene Wellek
Options :
93806630601. 1
93806630602. 2
93806630603. 3
93806630604. 4



Question Number : 126 Question Id : 9380667859 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fay TIfigd &1 3108 S dIcll 3R 24 dgldl - dicll &l fbdd gR1 «fay wifgafdg @
feTeTaREe)” HEI T B

L. T I, Wiars

2. g A

3. Sfds Sy

4. dxID
Options :
93806630601. 1
93806630602. 2
93806630603. 3
93806630604. 4

Question Number : 127 Question Id : 9380667860 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who made the following statements:

“I should like to see the word 'universal banned altogether from discussion of African literature
until such time as people cease to use it as a synonym for the narrow, self - serving parochialism
of Europe...”

1. Ngugi Wa Thiongo
2. Wole Soyinka
3. Chinua Achebe
4. Derek Walcott
Options :
93806630605. 1
93806630606. 2
93806630607. 3
93806630608. 4



Question Number : 127 Question Id : 9380667860 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 YA [hudl g:
T 3(thih! Hifgd & faH=l 9§ -TdeaTdl Xsg Bl U THY A Uidadd o= dIg 1 5id dd
fob 24 T IRIY D1 G, Wi Ao 1vidl & Ta0 & U T Ugdd D] &6 gl HRd g 1"

1. = ar fsfi
2. did Ul
3. fogar ordd

4. 5P dleIPIc

Options :

93806630605. 1
93806630606. 2
93806630607. 3
93806630608. 4

Question Number : 128 Question Id : 9380667861 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The two types of imagination as discussed by French psychologist Ribot are:

1. The ‘Plastic” and the ‘diffluent’
2. The ‘Primary imagination” and the ‘Secondary imagination’
3. Fancy and imagination
4. “Visual imagination” and ‘Auditory imagination’
Options :
93806630609. 1
93806630610. 2
93806630611. 3
93806630612. 4

Question Number : 128 Question Id : 9380667861 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

thd AAIa® Rae gR1 ay1 aftfd ded1 & Gl UHR g

|, WRe®: 3R yHrdr
2. YUY HeuAr 3R fgdidd dedAr
3. Tl 3R SHedHl
4. TR HAAT 3R Y HegAr
Options :
93806630609. 1
93806630610. 2
93806630611. 3
93806630612. 4




Question Number : 129 Question Id : 9380667862 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of “musicalization of fiction’ can be traced to :

1. Friedrick Nietzsche
2. Friedrick Jameson
3. Friedrich Schlegal
4. Frederik the Fourth

Options :

93806630613. 1

93806630614. 2

93806630615. 3

93806630616. 4

Question Number : 129 Question Id : 9380667862 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T & WIdHgar & Sdeddl &l 99 &Y fear S g2

1. e il

2. ThaRd SR
3. Tha R RUciTd
4. heR® fe mid

Options :

93806630613. 1
93806630614. 2
93806630615. 3
93806630616. 4

Question Number : 130 Question Id : 9380667863 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who made the comment: “The medium is the message,”?

1. Marshal Mcluhan

2. P. D. James

3. Thomas Hardy

4. Rob Pope
Options :
93806630617. 1
93806630618. 2
93806630619. 3
93806630620. 4



Question Number : 130 Question Id : 9380667863 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“HIegH gl YaRl g T gl 417

1. ARid AdclgH
2. U 31 5wy

3. YIAg gref

4.4 Uy
Options :
93806630617. 1
93806630618. 2
93806630619. 3
93806630620. 4

Question Number : 131 Question Id : 9380667864 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rene Wellek arranges the writers on the ground of ‘maker’ and ‘possessed’ in a historical
framework.

A. The Shaman

B. The Surrealist

C. The Expressionist
D. The Romantic

Choose the correct answer from the options given below:

Options :

93806630621. 1
93806630622. 2
93806630623. 3
93806630624. 4



Question Number : 131 Question Id : 9380667864 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I doid U =93l | <FHidr 3R 4R & 3TYR U oRddh| &I Haieyd dd g

A THTT

B. ffagyriamc]
C. MfHAfaaar]
D.IHileH

i3 foy U et 4 9E SR

-
-
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P B B
Wron
DO np»
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Options :

93806630621. 1
93806630622. 2
93806630623. 3
93806630624. 4

Question Number : 132 Question Id : 9380667865 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about representational media?

A. Linear narrative

B. Aesthetic illusion

C. Story telling

D. Photography

E. Recipiont's attention

Choose the correct answer from the options given below:

l. A, C and E Only
2. A, D and E Only
3.B, D and E Only
4. B, C and E Only
Options :
93806630625. 1
93806630626. 2
93806630627. 3
93806630628. 4



Question Number : 132 Question Id : 9380667865 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UG Hifsar & aR | 9 J U &Y Ud g2

A IRASH 3RS
B. Ul-adid® YH

C. HgHl ®YF
D. S™IH
E. UTKidad] &1 €14

I.Had A, C 3R E
2. HAd A, D 3R E
3. $dd B, D3R E
4. H9dB, C 3R E

Options :

93806630625. 1
93806630626. 2
93806630627. 3
93806630628. 4

Question Number : 133 Question Id : 9380667866 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following observations about intermediality are true:

A. The rise in status of landscape painting in the late 18™ and 19™ centuries influenced the
English novelists to depict it in their novels.

B. Non-literary media in different epochs has affected the picturization, the musicalization or
the filmization of novels.

C. The ‘Gutenberg revolution’ is marked by transition form written to oral tradition.

D. Heminge and Candell employed the folio format for the 1623 edition of Shakespeare's
plays.

E. The increasing literacy in England made the printing and supply of books costly.

Choose the correct answer from the options given below:

1. A, B and D Only
2. A, C and D Only
3.B, C and E Only
4. C, D and E Only
Options :
93806630629. 1
93806630630. 2
93806630631. 3
93806630632. 4



Question Number : 133 Question Id : 9380667866 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafafad 7 9 Sl fewfont sidqdfddr & R H aa g2

A. 1891 9&l & Faury 3R 19d] 9l 1 Ye=g ufdT & uefRsfa § gfg - siieil STa™aR]
DI 39 ST H 54 FEd H3 & forg yuiiad faan

B. faft= wrergus] ® TR-uifgfas Hifsar 4 Iu=amyl & foeor, Griiauadr 3R fhedid &l
gyifad fhar g
C. “Tea7 shifd» feRad ¥ Aigd WURT & SRl §RI S STl g

D. %mﬂaﬂ?aﬁ%aﬁ@aﬂﬁmaiwaimmﬂw%gtﬁmmﬁﬁﬁﬁaﬁw

E.%ﬁa@?ﬂmmﬁﬁmﬁéawahwmaﬁmml
A1 feu e fadedi o 9l 3R 7

|.$dd A, B3R D
2. Hadd A, C 3R D
3. HAad B, C 3R E
4. $Had C,.D3IRE
Options :
93806630629. 1
93806630630. 2
93806630631. 3
93806630632. 4



Question Number : 134 Question Id : 9380667867 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I Term

LIST-IT Feature

A. | Transmediality

Transfer of the content or of formal
features from a medium A to a medium
B

B. | Intermedial transposition

II.

Heteromeidum reference using one
medium only

C.|Intermedial reference

I1I.

Quality of a semiotic entity displaying
signifiers that appear to belong to more
than one medium

D.|Plurimediality

Quality of non media specific
phenomena or curing in more than one
medium

Choose the correct answer from the options given below:

1. A-IV, B-1I1, C-1, D-II
2. A-1V, B-1, C-11, D-II1
3. A-II, B-1V, C-III, D-I
4. A-II, B-1, C-IV, D-III

Options :

93806630633. 1

93806630634. 2

93806630635. 3

93806630636. 4




Question Number : 134 Question Id : 9380667867 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

R 3% a1 3RS fa=TdA3{ DI

ik o b | e A @ T B % o gEAiR
had U HIH &I SUTNT HL g

B. | 3f~qAieafadr uraifa IL | e cormeg it
s I 3HieD A1erd I Ye{od Udid g

C. | sfaatefia dau 111 | aTefl 3o g areil 31yl ar
GARIEHI)

D.|dg ArATr V. gﬁﬁﬁ%mﬁﬁ ﬂﬁﬁﬁsﬁaﬁﬁ

1 fGU 7T fdd el § T Ul 3R &1 g Difelu -

1. A-IV, B-III, C-I, D-II
2. A-1V, B-1, C-1I, D-III
3. AL B-1IV, C-111, D-1
4. A-11, B-1, C-IV, D-III

Options :

93806630633. 1
93806630634. 2
93806630635. 3
93806630636. 4




Question Number : 135 Question Id : 9380667868 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1I LIST-II
Work Genre
A.| Tristram Shandy I. | Sculpture
B.|Laokoon II. | Narrative picture
C.|Beethoven's Aun Die ferne Geliebte II1. | Musicalized fiction
D The Dance of Salome and the Beheading v | Erami
" of St. John the Baptist - FrAmIng song

Choose the correct answer from the options given below:

1. A-1I, B-III, C-1, D-IV
2. A1, B-III, C-11, D-IV
3. AL B-1, C-IV, D-II
4. A-1V, B-1I, C-1, D-III

Options :

93806630637. 1
93806630638. 2
93806630639. 3
93806630640. 4



Question Number : 135 Question Id : 9380667868 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

= =
A.|Ts%eH 3t I |Hfdbar
B. | c137ig IL | 3R faa
C. |diuld-g UfShth ¢4 Tifeise 1L | S e ey
& 1 2% Fram us fa fagfs 3
D.| g it o A e i
1< fau ¢ fadedl @ T Hgl SR &1 98- BT :

1. A-II, B-III. C-I, D-IV
2. A-1, B-III, C-I1, D-IV
3. A-IIL, B-1, C-1IV, D-II
4. A-IV, B-11, C-1, D-III

Options :

93806630637. 1

93806630638. 2

93806630639. 3

93806630640. 4

Question Number : 136 Question Id : 9380667869 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the function of framing in its order of importance as suggested by Werner Wolf:

A. Sender - Centred function
B. Text - Centred

C. Context - Centred

D. Self - Centred function

E. Recipient - Centred function

Choose the correct answer from the options given below:

EBE CADB

2B 1 CAE

3. 0D C.ERB

4. C,AB.D.E
Options :

93806630641. 1
93806630642. 2
93806630643. 3
93806630644. 4



Question Number : 136 Question Id : 9380667869 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR dicth gRI Y U gl & hH H EUEU &b UhR] HdRYd Dy

A. UND - di-sd Upd
B. U6 - $i<ad

C. UaH - sfgd

D. 3T - higd UbR
E. UTKidhd] - Bi-sd Ui

1. D ECARB

2.B,D,C,AE

JADCERB

4. A B D E
Options :

93806630641. 1
93806630642. 2
93806630643. 3
93806630644. 4

Question Number : 137 Question Id : 9380667870 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are features of *hypogram’?

A. The hypogram is always located in the text itself

B. The text imagined by the reader in its pre-transformational state.

C. The text does not hold any clue to a complementary intertext.

D. It can be a single sentence or string of sentences or also can be a quotation or descriptive
system.

E. Micheal Riffaterre has introduced the concept of hypogram.

Choose the correct answer from the options given below:

1. A, C and D Only
2.B, C and D Only
3.B, D and E Only
4. A, C and E Only

Options :

93806630645. 1
93806630646. 2
93806630647. 3
93806630648. 4



Question Number : 137 Question Id : 9380667870 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FafaRad § U SRl gIgure: &l fa=ivard ¢

A. BI3UNIH gHI W ce H RG giai g

B. U6 gRI Jd-FUidRd fYfd # ¢Re &l HedH]

C. ¢ H Thdl R 3Iqy &1 ol GRFTHIET gl gidl &

D. Ug Udbcl dIdy gl dTad| &l TG A1 3SRUI 31Ydl fadrulice Uullell gl Yahdll |
E. Hisdhd XFEPICY < BISUIUE & Hehedl Ukdd @ 4|

1.%Hdd A, C 3R D
2. HAd B, C AR D
3. Hdd B, D IR E
4. had A, C 3R E
Options :
93806630645. 1
93806630646. 2
93806630647. 3
93806630648. 4

Question Number : 138 Question Id : 9380667871 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about ‘Framing border’?

A. In performed literature, the dramatic prologues are the framing border.

B. In painting, picture frames or their substitutes can be the framing border.

C. In architecture framing border can occur only outside a building.

D. Individual books can not have framing borders.

E. In films, framing border can be the contextual trailers or opening or closing credits.

Choose the correct answer from the options given below:

l. A, B and E Only
2.B, C and E Only
3. C,D and E Only
4. A, C and D Only
Options :
93806630649. 1
93806630650. 2
93806630651. 3
93806630652. 4



Question Number : 138 Question Id : 9380667871 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fFrafafad # 9 S8 = u@u HHr & aR § 9d 52

A. FSITE 9Iige § eI gd by =Ugur AT gid gl

B. eA®dl ¥, TURRAT €3G T1 3D YaRITIS 0G0 ST gl Ghd 3 |

C. RISl T, TG YT hdd Ya- & d1ex g1 uied gl bl 3|

D. AVRD/Udhd Yedd! § =u@u 47 4gl gl Il g

E. fhel O, Segdd <o 3ydar Y3l d1 UG 3TYR HU- FURG0 G141 gl Ghd ¢

. Hdd A, B3R E
2. HAdd B, C ARE
3. Hhadd C, D 3IRE
4. Had A, C 3R D
Options :
93806630649. 1
93806630650. 2
93806630651. 3
93806630652. 4

Question Number : 139 Question Id : 9380667872 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI (Book) LIST-TI (Movie)
A.|Cracking India L. | Million Dollar Baby
B.| Rope Burns : Stories from the Corner I1. | Full Metal Jacket
C.| The Short - Timers III. | Earth
D.| The Confidence Man IV. | Journey into Fear

Choose the correct answer from the options given below:

1. A-HI1, B-1, C-II, D-IV
2. A-IILL B-1V, C-1. D-II
3. A1, B-III, C-IV, D-II
4. A-1, B-11, C-III, D-IV

Options :

93806630653. 1

93806630654. 2

93806630655. 3

93806630656. 4




Question Number : 139 Question Id : 9380667872 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

= 5
A.| i sfaar L | [l Siei asit
B.| /7 - RIS B [& B¢ 1L | 7 e Wlde
C.|fe =i ergad 1L | 3r2f
D.|f& @I ey 47 IV. | 51 §7¢ 3R
I feu T fad el & 4 gt SR &I 99 Bifolu -

1. A-IIT, B-1, C-1I, D-1IV
2. A-IIL, B-1V, C-1, D-II
3. AL B-III, C-IV, D-II
4. A-1, B-1I, C-I1II, D-1IV

Options :

93806630653. 1

93806630654. 2

93806630655. 3

93806630656. 4

Question Number : 140 Question Id : 9380667873 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-1I

Concepts Critics
A.| Anxiety of choice I. | Bakhthin
B.|Carnival II. [ Graham Allen
C.|Cloneliness III.|Harold Bloom
D.|Facticity IV. | Michael O' Sullivan

Choose the correct answer from the options given below:

1. A-I. B-IV, C-II, D-III
2. A-IV, B-1, C-I1, D-III
3. A-IL B-I, C-IV, D-III
4. A-1, B-11, C-II1, D-1IV

Options :

93806630657. 1

93806630658. 2

93806630659. 3

93806630660. 4




Question Number : 140 Question Id : 9380667873 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

Tl .
LIS CIGIEED)
A. [0 BT gfgar L |sRedT
B.|®ifad IL | 18 Ul
C. | fgTurdhdI (deli-cii=) 1L | RIeS &eqH
D.|dWRSdl V.| 3. gfeldH
-1 QU U f[adhedl & O U8l 3R &1 90+ HIfU

1. A-I B-IV, C-II, D-III
2. A-IV, B-1, C-II, D-III
3. AL B-1, C-IV, D-III
4. A-1, B-1I, C-I1II, D-1IV
Options :
93806630657. 1
93806630658. 2
93806630659. 3
93806630660. 4
Sub-Section Number : 2
Sub-Section Id : 938066315
Question Shuffling Allowed : No



Question Id : 9380667874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the passage carefully and answer questions according to the passage:
Aristotle and Horace are our classical texts for genre theory. From them, we think of tragedy and
epic as the characteristic (as well as the two major) kinds. But Aristotle at least is also aware of
other and more fundamental distinctions — between drama, epic, and lyric. Most modern literary
theory would be inclined to scrap the prose-poetry distinction and then to divide imaginative
literature (Dichtung) into fiction (novel, short story, epic), drama (whether in prose or verse), and
poetry (centering on what corresponds to the ancient ‘lyric poetry’). Vietor suggests, quite
properly, that the term ‘genre’ ought not to be used both for these three more-or-less ultimate
categories and may be used for such historical kinds as tragedy and comedy; and we agree that it
should be applied to the latter — the historical kinds. A term for the former is difficult to manage —
perhaps not often, in practice, needed. The three major kinds are already, by Plato and Aristotle,
distinguished according to ‘manner of imitation’ (or ‘representation’): lyric poetry is the poet’s
own persona; in epic poetry (or the novel) the poet partly speaks in his own person, as narrator,
and partly makes his characters speak in direct discourse (mixed narrative); in drama, the poet
disappears behind his cast of characters.

Sub questions

Question Number : 141 Question Id : 9380667875 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the passage, how does Aristotle differentiate among the primary literary forms?

1. By focusing exclusively on their thematic concerns
2. By categorizing them based on their manner of imitation
3. By distinguishing them through their historical evolution
4. By defining them solely through their linguistic structure
Options :
93806630661. 1
93806630662. 2
93806630663. 3
93806630664. 4

Question Number : 142 Question Id : 9380667876 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does Vietor argue against using the term ‘genre’ for both ultimate literary categories and
historical kinds?

1. Because historical kinds such as tragedy and comedy, should be the only focus of genre
classification.
2. Because the ultimate categories, such as lyric, epic and drama, are no longer relevant.
3. Because prose and poetry should not be classified under any genre system.
4. Because the term ‘genre’ originally applied only to prose narratives.
Options :
93806630665. 1
93806630666. 2
93806630667. 3
93806630668. 4



Question Number : 143 Question Id : 9380667877 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

How does modern literary theory, according to the passage, propose to classify imaginative
literature?

1. By maintaining a strict prose-poetry distinction

2. By reducing all literature forms to a single over arching category.
3. By treating every work as a unique and unclassifiable text

4. By dividing it into fiction, drama, and portry

Options :

93806630669. 1
93806630670. 2
93806630671. 3
93806630672. 4

Question Number : 144 Question Id : 9380667878 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In what way does epic poetry differ from drama in terms of representation, as stated in the
passage?

1. Epic poetry relies entirely on a narrator, while drama eliminates the narrator's presence.
2. Epic poetry focuses only on historical events, while drama deals exclusively with fictional
subjects.
3. Drama and epic poetry use the some method of representation, making them
indistinguishable.
4. Drama presents events directly through characters, while epic poetry alternates between
narration and direct discourse.
Options :
93806630673. 1
93806630674. 2
93806630675. 3
93806630676. 4

Question Number : 145 Question Id : 9380667879 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is 1t difficult to assign a definitive term to the three fundamental literary categories?

1. Because these categories have evolved into numerous subgenres.
2. Because the distinction between them is no longer recognized in contemporary criticism.
3. Because they do not correspond neatly to any single historical or theoritical framework.
4. Because Plato and Aristotle already provided clear, universally accepted terminology.
Options :
93806630677. 1
93806630678. 2
93806630679. 3
93806630680. 4






Question Id : 9380667874 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

frrafelRad srg=sq u¢ 3R w4l & IR Gifeie:

3T 3R RSP a1 [HGid & THR AR U g1 31 [eU, AGET 3R Hgldhle] Iiageld
(@ 1YY & Ud) UhR g | b 3R HU-U-HY 31 3R 348 Gayd faual I uRkfad
©. Sl A, Al 3R 7iid & 7 [dr ¢ | UDIR YfFd Figfdd Rieid o0
fauie I WIRS Hd § T Hed-1qui Hiiged (RS Dl e (IUAM, Y i1, HgIhIe),
A1 (dIg 1< 81 91 HId o), 3R Diddl (WA iid S &I Yrehdl R di-ad) J [quiica
ad g1 fquer g3 8, Sfaa dfa 9 81, 1 faer 2eq g1 i ey sifaw 4forl & fog =81
g fehar ST 1T a1 ArEl 3R g1 Wiy Ufdgiiie UhRI & e wal fdhar o7 difge:
31R 8H HegHd ¢ & 38 ugrqad! 4uil 3ruiq Ufdeiie UeRI W 2rgygdd fdar ST =mieyl
Gdddi & el Udh Weq Uil 1 31 § - YHaadT HdgR T 3R a4 Igi g | Tiel
o YR 9 U UDHR Ugd gl 3P0 Bl Afd (@1 “FH=yur) & =R fadfed g: fid
DI, Hid BT Aldkid 8, HgIhId Hiddl H (3] ITU H) Hid Ik, IRAFGBl b =Y
. WY Y Yarg ol g a7 3R e faq=i (g smrear) | 3+ ! & dieH &dl 6
dledh | Bid 3194 Uil &1 His o Ui a9 gl Sl g |

Sub questions

Question Number : 141 Question Id : 9380667875 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TG & TR, 3R] [HY TSR Uile Qiigfdd UReul & 3 fave &l g2

1. 39 Y U [TYRS WIHRI R &H disd did
2. B0 D1 I & YR W IADT U0 dich
3, 3P Udeii® [AhNIhH & gRI fave @id

4. Hadl 3! HINT faqiH1 a1 & gRT IRHINT B

Options :

93806630661. 1
93806630662. 2
93806630663. 3
93806630664. 4

Question Number : 142 Question Id : 9380667876 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sifay arfgide 4forT 3R UideiRie USRI, GHl & o «f[qur Usg Ugdd &3 & faiy o
[quer &1 /1 dd g2

1. i FNET 3R g 1Y Ufagiid UeR faer Yufideur &1 ded gi- difigu|
2. Hifdh 1, ATdT 3R Aled ol 3ifaa A0/l 36 UNifes A5l g
3. T 7T 3IR Uel i Tt faen woredl & sicid afferd 8T d=-1 1fgul
4. Fifdb Yeg 34T Yo &Y Y dhdel 7¢I SR UR ] glell g
ops068a0665 |




93806630666. 2
93806630667. 3
93806630668. 4

Question Number : 143 Question Id : 9380667877 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3wd6 & AHTHR YD Higidd RS fbd USR SHeudad diigd Bl avifh ol
TdIfad Hd g2

1. DR TE].Ue fade 91U g

2. THE Iligidd UREUl &l Udhd TdleadbR] 4uit H Uiftd dd
3. U it Bl Ueh fdeigiun iR Srarfirulig dy Ariax

4. UMY, Aled 3R I H faHId did

Options :

93806630669. 1
93806630670. 2
93806630671. 3
93806630672. 4

Question Number : 144 Question Id : 9380667878 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3qwie & YR =Yl & ey 0 Hgidhied Hiddl fbd UbR e U 3di g2

1. HEThT] Hiddl YUiadl Ueh 3RAMGdl IR 1R gIdl 8 Safdh e 3R] o
IUIRfT THd IR odl g
2. HEIdhTe] Hiddl dhad Ufdgiid ge-rsil IR df-<d gidl ¢ Siaid dled 49 &u Y
DIl [avgl I Ue€lSd glar ol
3.%??%@@%%%3%%%@&?{9@“ HXd B, ol 3¢ HfaHGA™
EEIGIG
4. Ted el Ul & @1y G g1 &l Udd Sdl g Sdid Hgldbiod dhiddl 3R 3R
Y Ul & did 3Ga-dGe Bl gl
Options :
931)806630673.1
93806630674. 2
93806630675. 3
93806630676. 4

Question Number : 145 Question Id : 9380667879 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



M Tayd g 40l &1 MyaraTd ue sfiafdd &1 ©id- &l g2

1. i g A0l iy Iu-fasnsit 4 fawid gl Il B

2. Fidh 3 did 3R GHBICIH A1 H e = UK g1 ¢ |

3. i 9 Uddp U U [l Usp Ufanies a1 Ygiidd Ul H e<ddl "ol 39d 5|
4. F1fd wiel 3R 3RE A Uge g1 WY, YdouTdl &4 U WD Ysald UaH o1 2|

Options :

93806630677 1

93806630678. 2

93806630679. 3

93806630680. 4

Sub-Section Number : 3
Sub-Section Id : 938066316
Question Shuffling Allowed : No




Question Id : 9380667880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the passage carefully and answer questions according to the passage:
Overtly imitating art more than life, parody self-consciously and self-critically points us to its
own nature. But, while it is true that parody invites a more literal and literary reading of a text, it
1s by no means unrelated to what Edward Said (1983) calls the “world,” because the entire act of
the enunciation is involved in the activation of parody. The ideological status of parody is a subtle
one: the textual and pragmatic natures of parody imply, at one and the same time, authority and
transgression, and both now must be taken into account. To use the categories of philosophical
logic, the language of parody text subverts the traditional mention/usage distinction: that is, it
refers both to itself and to that which it designates or parodies. Because parody is so overtly
interdiscursive and “‘two-voiced,” it is not surprising that we have been witnessing lately a
revalorizing of the work of Mikhail Bakhtin, the formulator of literary polyphony and of
dialogism, for whom parody is “an intentional dialogized hybrid. Within it, languages and styles
actively and mutually illuminate one another.” For Bakhtin, parody is a relativizing, deprivileging
mode. We have seen that, according to Todorov’s systematization of Bakhtin’s unsystematic
terminology, parody is a divergent, passive, diaphonic form of represented discourse.

Sub questions

Question Number : 146 Question Id : 9380667881 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In what way does parody challenge the conventional mention distinction in philosophical logic?

1. By completely rejecting the distinction in all literary forms.
2. By simultaneously referring to itself and the object it parodies.
3. By prioritizing usage over mention in its discursive strategy.
4. By reinforcing a strict separation between textual elements.
Options :
93806630681. 1
93806630682. 2
93806630683. 3
93806630684. 4

Question Number : 147 Question Id : 9380667882 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How does the concept of enonciation relate to the ideological function of parody?

1. It confines parody strictly within the boundaries of textuality.
2. It reduces parody to a self-contained linguistic exercise.
3. It ensures that parody remains detached from ideological structures.
4. It activates parody's engagement with both textual and extratextual elements.
Options :
93806630685. 1
93806630686. 2
93806630687. 3
93806630688. 4



Question Number : 148 Question Id : 9380667883 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does Bakhtin mean by describing parody as an “intentional dialogized hybrid™?

1. It creates a synthesis between parody and its source material.
2. It establishes a hierarchical opposition between languages and styles.
3. It facilitates a dynamic interplay between competing discourses.
4. It neutralizes ideological conflicts inherent in parodic texts.
Options :
93806630689. 1
93806630690. 2
938066300691. 3
93806630692. 4

Question Number : 149 Question Id : 9380667884 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the passage how does parody's interdiscursivity contribute to its function?

1. By allowing it to undermine authoritative discourses while simultaneously invoking them.
2. By isolating it from historical and ideological influences.
3. By reinforcing a monologic structure that resists external influences.
4. By ensuring that parody remains an unambignuous mode of critique.
Options :
93806630693. 1
93806630694. 2
93806630695. 3
93806630696. 4

Question Number : 150 Question Id : 9380667885 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Todorov's classification of Bakhtinian terminology, why is parody described as “diaphonic™?

1. Because it operates within a single cohesive discourse.
2. Because it accommodates multiple simultaneous perspectives.
3. Because it relies on a singular, authoritative voice.
4. Because it negates the possibility of polyphonic textuality.
Options :
93806630697 1
93806630698. 2
93806630699. 3
93806630700. 4



Question Id : 9380667880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Frafafed srgedq u¢ ok sl & Swr difve:
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Sub questions

Question Number : 146 Question Id : 9380667881 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No
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